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Rk $100[#EOE $100
FOIE $1,200|=OF& $1,000
FHFOSRE $1,200{ IOk $200
MO $1,000) = O%tE $100
=OE $600|ZFO%l $250
BROBT $200[52OJT $250
MO $10,000|7R O $250
BAOZH $200|ZFOfk $250
ZOP $1.200|5R O $2,000
O $600|E= O $500
=0+ $2,000{ FO%i $500
BROTE $600[EFOH $10,000
BIO= $1,200) B O3 $200
PROH $1,200)7#% O Tt $200
HOLE $100[f O=Z $300
HOLE $600[FR O $300
O ZE B $1.200[E O $300
EHOR $600[FRO=E $300
FORd $600PTOE £ $100
BROF $100PTO%E $100
BROE $100[F1O’th $200
BOWM $100[= O $500
EBOTE $100|122O% $500
EOR $1.200{ZFOHk $500
HROFH $1.200[Z£EOK $500
PO $2,000)B O & $100
MHOEAE $200[BROFEE $100
OB $1.200{FFOH $100
#FrOTE $10,000/#£O2 $200
BROER $100[ROF53E $300
FAOE $100|# O $100
BEOFF $1,200[FE QA K $3.000
BRO % $600|ER O $1,000
POt R $600|E=OH $500
FR O $600|E= O $500
FO®% $600[FR O3 $500
JBO4 $600| Al OBHREZ $100
FOH $1.200[EEOA $1,000
RO $1,200|ZEOF5 $25
EHOR $600[7ROF $6,000
+O= $600)75+ 8 E2350 $6.080
FOPTE $600| E =57 $10,000
BOE $600| 2877 = $15,600
PRO# $600[ZFO KD $3,000
BROHL $600[=O $5,000
EOE $600[F O $1,100
e Offff $500[F O $800
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RO $1,200)#H O $400
EOTT $100) = O $50,000
RO $1,200|5=O L& $10,000
AO%E $600[ZOHE $3,000
£0fE $600[FOF $5,000
RO $600[HO=2 $3,000
FO75 $600|1FEOEF $2,000
= O $600[#FOE) $1,000
EXO%H $600[#FOE) $80,000
= O54 $600[HO=L $800
BO% $600( 5L OF-4RHD $1,000
RO $600[ 2 O $40,000
BOR $600] ZOZEHD $20,000
HOE $1,000)TO $2,000
OBk $600| = O%> $3,000
B OfE $600 RO $10,000
EOFHE $600[5OZ $10,000
O $600[=OE[H] $1,200
B0 $600[FEOZ& $2,000
PO $200[H£O# $100
£ 0% $200[HEOFH $100
MHOE $200[== Ol $200
PO $200[ 5O $100
POLT $200[HEOFK $100
FOH $200[ 5O $100
MOE $200[5RO4E $100
HO1E $200|5£0 = $100
FOREHE $600[5=O $100
HOR $600[ = O $100
BEOE $100[#OF $100
RO $100| Oz $100
O $100[ EOF $100
HPO&A $100[ZF0O%E $1,500
£Z0] $600[#F O $200
ZOH $600[/HO& $200
= O $300,000| 52O $500
PROJE $200/f OF= $500
PROJE $1,000[FOE $3.000
BRORESE $2,400[#HOE $100
OB $300[z= 0O $500
BRO= $600)| £ OFH $1,000
BHOE $1.200{5: O $500
BOE $1,900[FR OE14E $2,000,000
EROZE $100[E= O $200
BROA] $100[BROAK $200
PRO= $100[FLOEE $100
RO $100[HEOEE $100
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EO $400[= OF $200
EOF $700[EOH $200
BOR $600[E O $200
O $600[#7O%E $200
BOH $600[ECO $200
O $1,200{#E O ¥k $1,200
s O $1.200|18OkE $200
HOH $10,000|O % $200
OB $10,000[FEO== $100
HOZ $10,000[FEO== $100
OB $500[ EO*% $100
HOKD $500| £ O $100
HOF5H $500[ EO& $100
HOE $500[ EO& $100
O $500| £ O $100
=OJE $500| EOJF $100
FEORH $1,200|F O $100
HEO $1.200{ZF O $100
HO=E $1.200{ EOE {0 $100
HOF $1,200{ EO£#HD $100
HOE $1,200[ O E) $100
HOHF $1.200(# OO $100
FHOF $1.200) &= OG0 $100
HOEAE $1.200) &= OG0 $100
FOK $1,200)3OE $100
O $1,200)3OE $100
FROMH $1.200[3£0 $100
FROH $100[H£O $100
FOH $100[/HO $100
EHOM $100|FF O $100
wOZ $100[E=ORd $100
s OfE $100[E=ORd $100
= Ol $100[=OH $100
BORE $700[=OH $100
£OF $200[m= Of& $100
£Z0OlE $200[m= Of& $100
Z0OE $200[ = O $100
FOEL $200[ = O $100
ZOR, $200 52 O (#0) $100
Z0OE $200 52 O (#0) $100
HO%E $200[EO $10,000
ZO4w $200|4C O $1,000
£OWE $200|EEO 21 $300
O $200|122OE $300
BOZK $200[ EO= $300
RO $200|fs O%k $300
BEOE $200[#OT $1,200
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O | $200[420O% $500
BROLL $200[4C O $500
BRO 538 $200|5=0OF $10,000
BROE $200[=O4F $10,000
PROZE $200|TROEEE $600
BHOZE $200[BROZ $1,200
BHORZ $200| RO $100
£ZOH $200[BR OFE $100
BOH $200[ A O i b $600
BOX $200[21O $600
O $200|FOE2 $100
BOH $200[ZF O, $100
BO#H $200[ PO $100
FEO i $200(2£O% $100
FOE $200[tFOF $100
BROE $200[#E Ot $100
FOF $200[#FO17 $100
BROL $200[f17O H $100
BROHK $200[#FOf& $100
BROFT $200[#FOf& $100
MHO% $200120OE $100
BROIT $300[#FO%& $100
£0OBE $200| 22O $100
£Z0= $200| 2 O $100
HOK $1,200{#O4E $200
FOEL $1,200[EO K $200
MO $200| O $200
OIS $1,200|8EO& $200
O $500 e O T $200
HOE $1,200) B OLL $100
EHOM $200|BR O < $100
FHOE $1.200[FRO% $100
HRAS S $1.200(FROZE $100
BREH $200[EEOE $200
fEIH A $200[EEOFZ $200
PRTHD $200[Z£ O $100
BRAESE $200[t% O $100
O $600[#O I $100
LOHEE $100[# O $100
TO%H $100[t5 O $100
BROHK $300[#OF $100
MHO= $200 |5 O $100
HORE $100[52O%E $100
FO8 $200[BR O $100
ZZOUfE $100|%2OF $100
§TO $5.000)BEO=L $100
£0H $100]FR Ok $100
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£ZOJN $100f OF5 $100
£Z0B $100[#FO%% $100
BIO= $100[2£0O= $100
s O $600[ O $100
EORK $3.800|BHOBH $300
sHO%E $500[FEOfE $100
E2OHE $500[F O $100
O H%k $500BRAREA $100
g O $500|fELLIBHA $100
£ OH $5.000) B FHD $100
s Of% $1,000[PRAEE $100
BOE $60,000[FEOFEE $1,200
S ORKEE $10,000| 5= OFf $600
EOT $5,000[FEOF5 $100
A O $1.000|FR O $100
£0% $500[7E O $100
=0 $500[7&EOTt- $100
=0% T $200|= O $200
TOFHHE $200[E=OFE $200
PROE $500[FE Ok $200
i OL/NDK) $200|BROZE $1,200
O $200| O F F 1 $10,000
HO=E $100[FR O1& $600
ZOE $500[;&EO T3 $100
BO $100,000] 5 O $1,000
=OZ $2,000) FH OFL $1,000
wO $1.000|8OZ $1,000
GO $500[ER OBk $100
BROTE $600| RO $1,000
=0% T $2,000| kO3 $1,000
BROZ $500)4EOK $1,000
BEORZ $1.000|#OFH $1,000
MOKAE $300[EROH $1,000
£0% $5,000[FEO & $100
O $250[FOF $100
GO $50[FEOINE $100
gO& $50[F O $500
FEOFx $100[ EO¥ $1,000
2OZ $50[FH O $100
g OHEER $50|m= O $100
=0%F $20,000[#RO $1,000
=(OLS $500[ 2 OFF $100
BEOH $250[E= OPk $500
HO $250| =05+ $500
O $2,000| £OF 1 $200
H O $1,000) &= Ol $100
LORE $1.000{= 0% $5,000
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210 $2001 2O $1,200
g OB $505 OL/NEK) $200
H SR hEE $6,000[F1OFk $1,000
BOXE $1,200|21OHE $1,000
BEO $1,200[F1OFZ $1,000
BROBA $1.200{ 7 O $100
TOHS $1,200|#IOF $1,000
O $100| EOFE $1,000
O $1.200[{#R O $1,000
FOH $100[7k O+ $100
EOF $1,200)FOL $100
BO $5,000[FR O $250
HOE $100|ARCOE $250
FHOK $100| EOEE $200
AOR $100[FH O $1,000
RO $100[ZOH $100
RO $100[#5O %2 $1,500
RO $100[FRO# $100
AOFE $100[ 52Ok $600
HO#&H $100[ZFO= $200
RO $500[HOZY $5.000
ROKE $500Ek O%X $500
O£ $400[F O $300
FO¥E $500[; O $200
TLOR $1.900PTOER $200
BROBRR $500[BBO4E $500
£Z0k& $500[FOFE $500
RO $800[2IO7K#k $100
RO $700[= O $300
FO% $500[7RO4E $500
HO4F $500[5O5E $500
ROZE $400| 4RO $1,100
RO $100| & TCEEM 1T $1,000
EXO%H $100|2£O%# $500
BOMGERD $2,000) 8 OF& $250
BROFE $2,000] 8 O $64
#*O $2,000) % O $62
MO $3,000|8 OF $62
ROE $100[ & OHEER $62
FEO#H $500[=O%i $200
FOTT $500/%2 O35 $400
FO1E $1.000|= O $200
MO $1,000|#EOF $200
BRO $2,000|18OF $200
SEORF $100[#5 O $200
HO{ $50,000)45T O F4% $500
LOZE $50,000{#5 O3 $500
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BEO% $1,000|EOF% $1,200
FORE $1.000(HOE $1,200
s O $2,000|FO#EF $300
=0% T $100[ ORI $300
=0% T $2.400|18O % $1,200
FOE $1,800|5O H $600
FOE $1,000{5EO" $1,200
BROZ $500[;TOTT $1,200
HOE $1.000|ZBOHA $300
BIOF $600) 5= O $1,200
HOJE $600[FECO $200
MO $1.200|22OF $500
FOfE $500[ & O $300
MHOZE $1,000[FEOF (i) $300.,000
FOH $250[#£O $500
H=OTT $250[HROJE $500
ROHE $250|FOH $2,000
FORL $250[=OK $300
PMOTR $3,000|EOZ $3,000
BIORL $1,000) &= OAK $2,000
BIOkE $1,000){HO%E $115
ROF= $1.000|1#FOF $1,200
RO $500[#H OF5 5 $1,000
HO= $300[BEO $1,200
FOR $1,000|FOR $1,200
BROF $200[ = O $1,200
O HH $12,420[FPO $5,000
RO¥ $2,000| POt $10,000
PO $530[fIO & $400
= O $3,000|5ROF $800
BOkE $1,500{FE Ot $400
O $1,500[FRO#F $400
EOMH $1,000|ZOF $5,000
HO®E $500|E O $1,200
BIOHE $500[E O%F $1,200
PROZE $500|EO = $1,200
O $1.000{FBON- $1,200
BOH $500[FRO B $1,200
qOFE $5,000({BROZE $1,200
ZOH $5.000pTOF $1,200
=0% T $1,000)F Ok $5,000
RO $10,000|ERO%0 $1,200
BROHE $500[f O $1,200
IO $500[FHOEE $1,200
Z0 $1,000) O $1,200
SO $200[REO=F $1,200
H O $1.200[FO= $400
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=0O% T $300[FO= $1,000
w=OR $100]+ORAE $200
wOME $100[ETOH $50
s O} $100[7R O $10,000
=00 $100|EOFA $400
=OM $100|EO%x $1,000
RO $100|ZF O $1,000
FROZ= $100[fOF= $500
s O $100[BBOH $300
w06 $100[#F O $1,000
=01 $100[FOHF $1,000
FORKE $300[2IORE $400
RO $5.000|# O $400
HEONE $1,000|5& Ojeh $200
HOMR $100[tOH $1,000
#Ola $100[=OK $500
O $100[#EO $1,500
2O $100[EOR $100
O $100|FOFk $50
£Z0OH $100[#FOHd $3,000
L O $100|ZF Oz $400
TO& $100[5OE $400
HEOER $5.000) 5 O1& $200
FOF $100|F O $400
AOZ $1.000|F O $400
PRORL $2,000|EEOLL $400
e A TR A H] $2,000[ 1O FH $400
AEOE $500|2£O% $400
AEOE $300[ = O $400
g OB $100|2EO'S! $400
ZOR $100[5O%E $400
BROIE $100|F O $400
fiti OF $100[#HO $400
BROZR $10,000| £Ord $200
FHOLL $1,200{5R OV $400
BROE $150| 2O $300
£0 $200 | O % $400
ZFOHE $250 (B O $200
RO $1,200[ FOF $200
Z#0 $600[ ZXHH = $30,000
fTOTF $100[BR OFAZ $1.400
RO¥% $300[= Oli% $2,000
ROSHE $300[5ROF% $50,000
FOZ $600[ZF Ok $5.000
SOt $300[FHOJF $10,000
RO $1,000|Z Ot $100
RO $500[FH O $10,000
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BROME $500[FH O $10,000
BROZR $100|&£O EEREIZ $800
BRO $1.200[5O%F $200
EOTE $100|52O% $600
FEORE $600|=OF+ $100
gO% $100fR OF $100
sHOH $100[FRO#h $100
BHOR $1.,200);E OFE D $50,000
B O] (#0) $200| EOE $100
HOE $100f OF5 $100
AEO# $200[21OF5 $700
HROR $200|FHO== $10,000
RO $300] & O 75 6 $200
H=O $200| kO $2,000
POt $100[FEOHk $500
w3 $100[FRO e $1,000
BIOH $100[FEOHH $1,000
s O $100[EO B $100
Z0Oia $1.200[z=O41 $200
SOl $1,200{ZFO4L $500
w= O $1.200{5OF $100
HOF $1,000|121O40 $400
PROFAGED $20,000[/6OE $100
BROXEG $20,000|8 O F& $300
BROH $200[&£ O $300
BRORL $200 &k O $300
FOHE $150) =00 $300
BROZE $150[Er O% $300
BROZ $150| &R O 7% $300
RO $250| &R O $300
BROFH $200 &k OF5 $300
BROE $200[fF O $300
FOH $200[FIOHk $10,000
BOB $200[=O¥ $500
AEOFEH $500|FFO = $300
i OTE $100fR O $50,000
fitt O>L $100[ EOTE $200
LO= $100[E= OZREFK $220
O $100[FIOJE $1,000
g O $100[BBOEH $300
O $100|ZFO7 $100
2OZ $100[EO1a $100
FOZ $100|HFOZE $100
BRO®& $100[E O $100
s O $100[ER O $100
SO $300/2£ O $100
HOHHE $300[FROZ $50,000




MEEANSETRAIDFEHEENESE
OIFHMEE (TEEMR : BEFREARETL)

Bk ER it i L
s Offi $100[EFOME $1,000
sTOfE $100[= O] $1,700
BOT $100ta O $100
EHOH $100[= Ot $200
sHO#E $100| 2O $500
#ZOREH $600[HOZ $1,000
BROEK $100[BROAI $100
RO $100[ OFE $100
BRO B $100[E=Oi% $500
@) $100| EO= $200
BROH $100[=OthH $200
BROTE $100|H OPz $1,800
BROE $100[45O % $200
BROZ $100[ = O= $900
BROE $100|AROH $200
PR O $100[#O % $400
BROLF $100[tO== $200
FO= $1,200|#H OFE $200
O $1,200|#H OB $200
1 ORX $1,200|1# O $200
RO $500[ O $200
FOEED $600[#H O $200
=HO= $200,000 [ Ot $200
sTORK $100[FHOFE $200
MOTR $100# O T $200
2IO& $100[#FH O $200
BROZ $100| = O% $900
RO, $600|E O % $200
BRO % $600[FEOR= $200
PO $100|%= O+ $500
O $100[Z OIEl $100
TOKE $300[#O 2 $100
FEOF $5.000| O $100
AHOE $100[21OH $100
O $100|E=0O%E $100
AEOH $100[FEOFF $50,000
ROFE $1,200)122O%% $1,000
=0% T $6,000|1#+O $1,000
=0%F $20,000[F=O™ $100
ZO®E $1,200| Pk O%F $200
MO $1,200| kO3 $1,000
=04 $1.200[z=OHE $1,000
BROBY $6.,000{<=O%i $500
BOHED $80,000[z=0O= $500
ROZ $200|2£O% $150
g Ot $1.000[z=OF $1,000
ZFOfR $125| R P T b $1.000
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ZO¢ $125| 7O $100
BEOTE $125|HO4 $10,000
ZO% $125[#O XYk $1,000
FOE $30,000|ZIOF $100
E@)=) $10,000|A3CO & $2,500
BROAL $100[E= O $200
£20) $2.000/t50O & $12,000
BROZE $600| EOLL $100
FROSZ $600| £ OFZ $100
HOZE $600|2IOZEER $100
FEOR $600[FIOfE $100
ZFOHiy $600| 2O HD) $100
T OELED $200(2N1 O $100
MOETHHED $10,000{2T1O $100
RO $20,000[FEO/F $100
LR e AR E] $500[BN O $100
FO= $200[=OL $200
£0 $200| 5O $1,000
ZO% $200[ O $2,000
ZO% $200[5O= $100
FEOH $200|FEOH $100
HOE $200[FEOfZ $100
Z O $200[ 5 O% $5,000
FHOE $200|EHOFL $2,000
ZOf% $200[ 52O $1,000
HOZE $200[ O $530
AHO $200| < BHEE $4,000
FORH $200[53OZ $1,000
O $200[ MO % $3,000
L@ $200[%O1E $10,000
F O $200[#7 O, $20,000
FO%# $200[FO= $3,000
FO& $200|FO= $6,000
HO{ $2,000[ZIO% $10,000
RO $3,000{#5O $2,000
O $2.000[=OF% $200
TOEE $2,000[2£0 $1,200
1 OBl $20,000|5R O£ $1,200
OB $6,000[#AOE $1,000
=0% $2,000(F O $100
FOZ= $1,20017kOF% $12,000
FEOT $600[7ROHk $1,000
HOEF $600|#H O $500
PROME $1,500| =05+ $20,000
HOHE $1,500| =05+ $3,000
O $5.000|FO $500
HOAE $1,700|18 O % $100
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RO $100[t5OFH $100
OBE $1.000|1OF $100
s O $600[2£ Ok $100
s O $600|122O % $200
RO $600[ O $200
s ORE $600[ 5 OFKH $5,000
MO $600[5&O%E $1,000
BROH] $600[ = O $200
BROR $600[Z O] $1,000
BROIE $600[EO B $100
RO $600[FEOIEZE A $3.000
BROLE $600[=OH $100
OB $600[ROF $100
HOE $500[#% O $2,000
BO% $100|2 O $1,000
BO#H $100[fO’a $1,000
BO# $100[BEOF4RHD $1,000
£Z0Om $100[5= Ot $500
FOBE $500 O $500
= Of $500| =05+ $500
= O $1.500 EEOA $1,000
sHO%: $200 R OF $200
sHO%: $600[FE O $500
BHOE $300|F OFE $500
BHOE $900[EO A $100
=OH $1,000/EOF $1,000
= O $3,000) EOFEE $300
=50 $200| EO#= $300
=50 $600[FRO%E $100
=5 O $200 R O % $1,200
=5 O $600 |k O $200
HOE $200[FRO= $3,000
HO=E $600[FRO#h $100
FORKH $50,000| EOF $100
e OFfE $100[=OF $5,000
BROEETR $600 | O $100
FO* $100[5TOE $100
+0O¥% $100[5FOE $100
FOH $100[FR O $100
O $100|1 =0+ $100
ZOR, $100| =05+ $100
TOEEHD $100| =05+ $100
MOE D $100] 5Ot $5.000
O $100| 2 O# $5,000
HOE $100[fAI O PR $500
HO $100[7RO1a $200
FHO $100[ZZO B $100
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EOK $500|2£ O $100
= O $200[ EOH $300
EORIE) $2,400| EOH $300
BRO4E $50,000[ZF O $500
HORs $10,000] 2 O %t $100
FOEE $1,000|=HO%E $500
HO $100,000[EO#% $16,000
ZOHZ $200[ EO% $500
20T $200);% O e $200
= O $100|FEOF $300
=OE $100[fH O $300
=OE $100[EFOH $300
= Ol $100[[O= $300
=OEHRD) $100(|BIOjik $200
FEOE $2,000( 2 O $500
FREREAREAERAHE $100,000|1Z20%4 $500
BROZE $1,200[ Ok $500
BEOLL $1,200(ZEORK $500
O $1,200|fF OF5 2 $300
O $1,000[FHO#E45 $100
PR O $10,000|#cO % $1,000
2 OH) $3,000[ZHOH $500
O $3,000[FEOF* $100
#HOE $200| = Ok $500
FOE $100(F OE ({0 $10,000
ZOMHE $300[% O& $100
BFOE $100[% O& $100
#EOK $100[EEO%E $100
BOFE $1,200|2 O %% $100
O $1,200{HOJEL $100
RO $1,200[&OA $100
HO®E $1,200[5OFE $100
RO $1,200[5OFE $100
BRO#F $100[/H Ol $100
£0% $100[H O $100
BRO$ $100[H O $100
ZEOM $100| &R O¥X $10,000
BOE $2,000|FEO $500
FEOB $10,000|5: 0O $100
O $10,000[BHEOE $100
FEO)] $10,000| B O i $100
EON $1,300| FO L $100
FOE $200[FHOJE $100
BROTS $200|BEO% $100
#0O $200[FF O $100
EROf $200[BFEO $100
E=OU $200|5F O $100
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#FOZ $200[EF O f $100
FR O $200[5TOZE $100
ER O $200| s O $600
FROE $200 | O’ $1,200
=HOE $600[ HOFE $1,200
EHORE $600[ H O $1,200
SOF $600[ HOZ $1,200
=O% $600|PEOIE $12,000
e O)=| $600| E = $10,000
BHOZ $600| = OF% $3,000
HOZ $200| A OF $1,000
ZO1E $100|7EOS! $6,000
w0 $1,000|121O& $1,200
ZOuk $300[ & OF $500
RO $300 & OFFEEHD $10,000
HROF $300[FHOJE $1,075
FOH $1,000|121OHH $1,075
EO#H $10,000{ZIO~F $1,075
BOff $10,000) %= OJF $1,200
FO#E $1.200[5 O $1,200
A OF $10,800[ RO $1,200
B AR AR E] $1,200) % Off $1,200
JiOH $1.000({Z1O%# $1,075
EOT $1,200)FOH $300
=0 $1,200{ = OF& $1,000
MHOF $1,000| 21O $1,200
BIOF $100[ & OF $500
AEORH $1,000)E=OK $500
FO¥K $1,200 O $1,000
TEOBAE $1.200[E O£ $1,000
BOTE $295| ROk $200
RO $1.200{ZFO% $250
RO $1,200)5=O7C $250
sTO32 $1.200[7R O $250
RO $1.200[ZFOBK $250
=0% T $1,000[2£O % $2,500
=0% T $10,000]F Ok $2,500
s OHrok $1,200|1220f(& $2,500
#l O $1,200[22O0%E $2,500
FOH $1,200|BEEOF $200
ORE $1,200[ O $1,000
BOFAL $1,200{ZFO4L $200
s OgY $1,200) BR O%Ek $1,100
O $1,200 [ E 1T $1,100
BIOZER $100| EOFEE $400
RO $100|22 Ok $500
BIOEED $100[H O $100
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21Ok $100|= O $100
ZIOE $100[FOFH $1,000
FOM $100|1 22Ot $500
21058 $100|Z2OfE $500
RO $1,200{EO3Z $500
#OH $100[Z£O $500
OB $100| EOE $400
tHROBE $1,000[FECOHA $100
BOM% $1,000{£O &1 $100
Jiti OB $1.200| 5 O $100
B OH $1,200{FO% $100
1BOE $5,000[#&OF% $100
SO&E $2,000|E= Ol $100
HOH $1,200[FHE O $5,000
O $6,000|= O $100
LOgE $1,200|=OHF $100
HOB $1,200|F O $100
EOXRE $1,200[# O~ $100
20 $1.200[FEO#E $100
FHOX $10,000| 21O $100
BOBL $2,000(BEO= $100
2O $1,200|# O $100
MOt $1,000{ &= O $100
SO $600[E=O1E $100
EOR $1,200[#& O $100
B O $1,200| EO % $400
O $1,200| EO%E $400
EOR $1,200FEOF $400
HHOTH $300| FEOHH $400
RO, $20,000{Z=OF $400
O $1,200(FEOF $400
HOF $300[ £ O%E $400
210 $300[#O FH $1,000
E (@) $300) 21O 7Kk $100
FOK $300| 2O $1,000
2105 $300|PRO#E $500
FO%H $300[faf O EZE $500
FO=E $300|EXOE] $1,200
wO¥% $1.200[FRO# $500
i O & $5,000|FR O $500
FOFE $600( & Ol $100
1BOF $1,200(BEO 4= $100
=0% $600|FEO24 $2,000
=0 $1,000[=0O $1,000
PHO3Z $1.200[E O $2,000
OB $1,200{FH O $200
{HOTY $600| EO% $500
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s O, $600[=OF+ $100
EO% $1.200[Z2OF $500
FROZ= $600[ 2O $500
G OE $3,000{#k O $1,200
ROE $5.000(#RON $1,000
HOFE $1,200[/&O $2,500
AEOF $300[EOHE $100
HEOFE $300[FR O1& $1,100
LOZ $300[ 2O $500
21O $1.200[#50 & $12,000
HOR $1,000) B Opk $500
HOE $500f OF= $500
HOH $500[HOZ $1,000
PO $400|F O $400
MO $400[fr OB $100
HO%E $400[H:OHB $1,000
HOE $400| 21Ok $1,000
MO $400[FIOHE $1,000
PHOFS $400|2IOF% $1,000
ZOHE $1.000[HEOE $100
=0 $2,000{ FO%i $100
A O $5.000)E= 0O $500
SO/ $2,000| £ OFE $1,000
sTOME $1.000[£0O $400
O $1,000|FEOIH $100
O $3,000/8 O $100
ROFE $100|tROE $1,000
A0k $100[2EO $100
ROE $100| £ Oz $200
RO¥E $100[FRO# $100
O $1,200{ O $600
FON $1.200|1402 $1,200
BHOXE $1.200[#OZ $500
O $1,200)3# O=L $500
O $1,200)3# OF 1 $500
MHORE $500[sEOH $500
=0% T $2,500) B O % $200
O $500| £ O $500
FOHE $500[f OF= $500
#ORfg $500[ & OB $250
PO $500 & O $250
w=0OfE $2,000|FOH $50
s O $2,000{EOFE $200
O] $10,000{BROH $1,000
HOECER) $1,000| 7 OEL $400
w= O $200) 5= O4 $1,000
=0% T $100[FHO% $1,000
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B FIE < RE B AE
HO®E $2,000|&OFF $20,000
SOt $115[EFOF $20,000
S O% $115|8: O $20,000
BROFEF-E $500[FHO4& $600
TORE $6,000(H O $600
T OmGEE) $6,000| = OJift $600
TOF $6,000|ZE O $600
TOFF $6,000[fROF5 $100
TOE $6,000|FE O $100
#HOmE $1,000;FOM $100
HEOH $1,200;& Ot $100
EHOT $100|Z1OF] $600
=OHE $2,000|5E O3 $600
ROHE $100|Z2OFF $600
#HOJI $2,000;&O )5 $100
OB $300| B OBk $100
BROM $1,000| O FHH $600
PROZFEF $10,000|Z0O $600
FOE $1,000| EO = $600
Ol $1,000[fEO & $100
HOF $1,000|F 0% $100
#HOE $40|BE O % $30,000
RO $30|#RO EFY $10,000
#HOE $30|12=0O1= $200
=OE $5,000{H O $1,500
Z0H $1,200[HOE $2,400
BROE $600 %8 OHA L $300
BOE $1,000|B O $300
OB $500[BROIE $300
BOLR $500[EOF $300
BROZEE $1,200[HEO4L $1,200
HBOTE $20,000{2£O $400
Z0 $1,000|ZEO%E $750
EOHE $2,000{5EOE $1,200
SO $115|Z0 $600
sF O $115|5FOF $300
EFOZE $115[5EO $900
Z=Ort $200[5FEOEFE $600
SO0 $1,000|BEO%E $600
PR OFd $1,000|5EOZ $1,000
EOf $7,000|FE O $1,000
RO $100[BHO $1,000
SBOE $1,000|FROZE $200
= OFF $1,500|FEOFE $600
BOR $3,000{% O% $300
AR RAE $500|FHO#T $300
R ERGERAE $100,000{ = O () $600
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2O $10,000[(EO#% $600
O $100[5ROF $1,600
F¥EOLE $100[5RO#E $2,400
=0O%F $2,000|75£O $1,600
=O $400| ROt $300
=OIL $400[&=O=L $300
BO= $5,000{BIO# $300
BOE $50,000] 2 O $300
BOR $50,000|FE O $400
=OE $35,000|FRORK $400
=HOR $3,000 (PR O $750
TROEH $20,000|FROFA $400
ROX $1,000(BR O3 $400
MROZETFR(EE A $7,000[5EOF $400
FEEEfE 1 $17,100|1#5O=Y $400
[ = B $68,400[5iEOFEF2 $1,500
Tk $34,200 O IE $300
HETH $17,100[3#E O $300
FRE $17,100{4c OZ: $300
TR $17,100({BFO &Y $300
(i REFS $17,100| & Of $300
FEE $17,100| 2 Of $300
THEHE $10,260 38 O£ $300
S $10,260[EEO %% $300
SR $3,420|FHOFE $300
ENC $3,420[=O#% $300
Al $1,026[E O $900
S $684| BT OFFH $900
(RN $684|5F Off $300
B $342[3F O $300
HEUDE $171{#5OTF $300
BOHR $10,000|EHO%E $300
BOR $20,000[EHO %4 $300
BOM $200(=OREH $600
O $200| 2O $1,500
FOE $1,200[FEO = () $1,200
PR O $125|&=0O# $500
202 $200[E= O#% $500
HOEE $125|=0O0E $500
RO $200|5RO % $1,000
O/ $200[FFORk $300
O $200[#R OBk $300
FOZE $200(21O%= $300
FO#H $200(PROZ $300
O $200 (RO $300
EAO#E $200[EO=2 $300
B OFH] $200| EOR $900
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OB $200{O 5 $200
BOFE $200[FEORI $200
0= $200[HO%H $200
s OIESK $10,000)5R O $1,000
O $1.000[FROBK $6,000
BROE $1,000|7ROAE $600
HOHE $5.000) % Ol $3.000
BIOF $1,000)H# O $900
FR O $500[FEOF $600
BOZE) $10,000{ZF O $600
#HOBRE $10,000|1FROH $1,000
e O $1,000) 85Ot $800
SO $2,000| 5T OHT $600
RO $5.000) % Osfe $600
FROB) $3.000[FHOZA $600
RO $3,000]BEO $500
AORK $3,000| POk $300
BOR $1,200#5O i $400
PO $400 | OF $6,000
BOST $1.000) i Ose sy $1,000
@) $1,200{£5OFE $200
BRO B $1,200|#EO% $1,000
BROfE $600|E=0O + $3,000
=0%F $10,000[F=OfE $2,000
BROFE 5 $600[#F OBk $1,000
FROH $100 O $500
FOH $100| O $1,000
EHOM $100|122OF $500
=OZE $100[ZFO $300
=OE $100|EO%x $1,000
= Ol $100[#FOE) $1,000
PROS $500[#F O $500
MOE $500[z= O $2,000
LOEE $100|EH O $1,700
TO%H $100[ EOREHS $2,000
B OH $1,200{HOJI $2,000
FEORH $2,000[z=0OF $200
BORE $100[EO¥ $100
g O $2,000) & O & $100
ROEEAE $100|ZBOAF] $10,000
tROF $100)HEOEF $10,000
RO $100|E= O $3,000
RO $100|E= O $1,000
#HOEE $100[=OE $1,000
EEOH $3,000{#OFA $1,000
RO $1,000)BE O $450
s Ok $1,000] B Ok $300
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O $200[7=O $600
BEOZRIE $300[E O $100
BEORB $200[HEO#t $500
I OHE $600[FEOTT $500
BROEETR $100[5OEEE $100
TLOH $500[EB O $1,000
g Ok $200|HEOA $3,000
O $200| £ O $450
HEOL $100[FRO%E $450
#OfH $200[BROZ $450
BOW% $100[BROFK $100
EOXR $200[FROZ $100
BOZ& $5,000[FR O 1 $100
[ OF $200 BB O $100
O $200[BROH $100
HOFE $200[ER Ot $100
OB $200[BROF $100
H OFF $200[FRO2 $100
HOH. $200[fROF $100
i OFH $200 | Ot $100
H O] $1,000)BEO4F $100
EEORE $100|ZFO1& $1,000
=2 OF $600[#F O $300
HOIH $600[#£O $1,000
PROZE $6,000) &£ Ot $300
HO $100[5=O%& $200
TO $600|5E=OHH $100
EOM $500[5OFE $100
RO $300|5=O%EF $100
mOFEE $6.000|= O $100
RO $1.200|18%0OF $100
IO $400[2EOZ $100
i O B $200[ERO I $100
TOH $600|5=OH $100
TOk $50,000|5=0O2 $100
FZ O $600[ZFO%E $1.800
ORI $20,000{22O= $300
HEOF $1,000{52 O $300
RO $600[BRO & $500
BOEGER $10,000{BEOFF $300
ORIk $1.000H:OfF $1,000
FAOBE $5.000)| 2 O $300
FR OB $1.000{ 7 O $100
AEORES $2,000[ZFOffF $250
SOk $10,000|FOH1 $250
FORMH $800[EO1E $250
BOH $2.400)1F O $250
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BOE $500[fE OJE $3,000
s O $1.015| EOELEHD $600
=0%F $1,200|sOH $1,000
=0% T $100[5= O $300
=0% T $300PEOFE $600
=0O% T $400[BBOXK $600
=0O% T $700[FROF5 $500
=0%F $1.000{5O%) $500
=0% T $1,000)BEOH $100
MOTR $300,000(21O% $300
A Of $500 R Oty $3,000
FOR $100[fEOFE $500
FOWH $100t5O% $1,000
FOH $1,200| 2254l 2 A TR E] $1,500
OBE $1,000| FPEE T ffber $500
ROZE $5.000|FO& $1,000
£0% $300[ 2 OFF $100
BOEXE $1,000| £OF 1 $200
BROH $20,000{Z£ O $500
RO $300[EHOFL $1,000
tRORE $300[HOZ $1,000
EOZ $1,200(#E Ot $300
EROE{C1LY) $1,200|&F O 75 1] $200
=S OB $1.200{ZIOF $1,000
HEOE $1,200) 8O $500
=OF $100[FEOHk $300
=OFA- $1,000{Jiti O=F $10,000
=OM% $1,000| O $200
s ORT $1,000| %= O $500
HROM $100[ F O $100
OB $100[fO’& $1,000
PROM $100[fAf OBHREZ $100
FOF $100|E=0O4 $2,000
FO4 $900[FOFE $2,500
HEOXL $200[5FOHA $2,500
PO $3,000[E£OBRLER) $5.000
BOFE $5,000[FFOF= $2,000
=OIE $10,000[EF O $3,000
RO $5,000[EOE $3.000
PO $5,000|EL O $100
RO $1,000|1ZOt& $100
BIOH $5.000|EFO = $100
FEO $5.000|Z O $100
2Oz $1,000|Z O $100
MHOH $100|2£ O $100
@) $500[FNOFE $300
HOZ $500[ IO $300
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HOE $500{Z=O2Kk $300
HO4E $500| 21O %> $300
EOM $500|Z= O $300
O $500|ZF O $300
HOE $500| ] O3 $100
EO%F $500|EEOZ1E $5,000
BRO= $1,000[FFOF $10,000
mOH $2,000|%=0O=E $10,000
AEOZF $3,000| O $1,000
5O $2,000|$H O &4k $1,000
tOEEX $10,000{5 O $5,000
FO4 $1,200(BE O $1,200
FOHE $2,000| EFO A $100
=OBk $1,200| Ot $1,000
HOE $500| P EEFEH B EE $95,000
ZIO%E $1L,000[BROFEE $1,200
TO8% $1,000[&= 0% $500
HO% $13,000[FFO 8 $10,000
TTOBEE $10,000{BHO $1,200
#HOFE $500{= Ofx $500
FHOHE $1,000|HOKE $1,000
#FHO— $1,000|B105% $1,100
SHO# $5,000[ZFOFE $700
TROZE $100|#AO3E $2,500
sROGEL $100| 5O $600
HRORKH $500( = OFp $2,500
FHOZE $5,000| %2 OFF $2,500
HOBE $5,000|5FO $2,000
O $1,000[250O=¢ $10,000
FHO=E $1,000| FO% $2,000
HOH $1,000[5RO% $5,000
ZFO4 $1,000[&=0OF $5,000
BOE $10,000(BH O3t $100
FOLH $6,000[{ef OFfR $500
BOE $3,000|20EE $500
FOIH $500| = O} $100
EMEREE $5,000| = O $500
b $50,000| O $500
SR R R $500| = O $200
Mai Ly $9,936| 2O’k $200
BEOHH $33,334[= Ot $500
BEOEL $2,000(250% $500
5RO $2,000|1ZE Ok $500
RO $1,500|122OK $500
BO® $33,333[HOFHEZE $300
O $33,333|# O $100
O $1,000| =0 H $500
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FOk $1,000) &= Ok $500
O™ $1,000[E Ot & $1,200
TO= $2,000|1 kO 7 $300
FOsK $2,000{ZF O $1,000
ROt $2,000|ZOIT $600
FOX $2,000|122OF $600
£OIL $2,000) B O $600
T O $2,000{#OFk $600
FO%E $2,000) & Opk $500
sH Ol $2,500[= 0O $100
sHOA $2,500[ = O $100
sHOZE $2,500) & O $100
BOH $2,500|=0O1= $100
#*O $600[5=O% $100
ETOTH $600[F O $100
g OHk $600[FROE $100
AOFHEE $600[=OFH $100
POZR $600[= O $100
HO%K $600[=O1E $100
TOE $1,000{E= O $600
PO $1,000) & O $600
T O $1.000[fE O $1,000
PR Ot $1,000|#kO%E $1,000
s O $1,000[FRORE $600
= S e o o $100,000|3O= $600
BOFHD $100,000|£2OHA $600
BROE $10,000|BROF* $600
O $5.000)7# O T e $200
EO $600 | O $300
R CEEY $50,000|F OJ= $300
BROdim $1.500[E O $300
RO $5.000)f O $300
ZIOUx $4.,000) PO $530
+OFHE $2,000| =O1H $1,000
SFOEA $1,200{ =06+ $500
AEO#K $2,000[Z£OFk $300
tROH $250,000]% O $100
£ONE $200,000{FRO % $500
O $150,000[Z—2ORE D $1,500
RO $10,000) B OBH $10,000
TOHE $5.000) s O $10,000
BORE $5,000( P O $10,000
SOt $5.000(FROH $10,000
TOEE $2,000| 7 O15 $3,000
70 $1,200|FBO $2,000
BORE $10,000| =0+ $780
FO7 $2,000[FFOF= $600
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HOFH $1,200| £ Ah=F $10,000
H O $600[15O== $1,000
HOZ $1.200[Z0 $1,200
s O $1.200{ZIOF $100
BrO#= $1,200| &8 O BRI 5 $800
O $1,200|F O $300
BROFT $1.200[F=OEK $100
BIOEX $1,200{#5O#F $500
BROF $200[ 5= O $200
PROE $200[EOH $500
BOWM $200|EOEE $500
EOTE $200| 21O 2Tk $100
ZIOF $600[FIO &= $100
#FROZE $1.200[Z1OE 0D $100
+O% $1,200|121O $100
s OfE $1.200[Z1OE $100
=HOS $1.200[FE O/ $100
s ORI $1,200{ 21O $100
SO $200[;EOF* $100
O $200[=OL $200
HOZR $200[ KO $500
O $1.200[F O $100
O $1.200FE=O% $100
FOHR $1,200{ZFO% $1,250
RO $600[5ROJT $1,250
wOITEHD $1,200)5ROH $1,250
FROF $1.200[ZFOBK $1,250
ROE $1.200[ 2 O& $1,500
B OF $1.200)4E O, $2,000
HOL $1,200)i O $500
= Ol $1,200|FROAE $1,000
w=OK $500[Z£O% $200
L O $1.200|O %R $600
FEOFX $1,200[FEOEN ) $1,000
ZOH $1,200[# OB $300
PROZ $1,200) P OmED $1,000,000
TO# $500[FF#EEESE $2,040
TO#AE $100| B8 2 B (MR.KAWIN) $3,845
BOF $600[FH OFx $400
BEO= $1,000{&F O $400
FORE $100[8O= $10,000
O $200|EH O $1,000
£0% $500[=O% $500
BOE $500[FROFIL $300
BRO1E $700[m= O $200
=0% T $200[m=OF $200
TORE $10,000] s O8I $400
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AOE $500]5O $1,000
i O4F $1,000| FOFEE $2,000
PO $100[FR OFE $600
=0 $500| = OFii & $1,000
O $100[EOHE $2,000
PROBERK $300|E=0OE $3,000
=0O% T $100[EEOE $30,000
O $100|HEOE $1,000
FEOZ $1.200(FR Ok $5,000
HOE $1,200);&O $500
HOTT $200[FRO % $600
ZIO $1,200| & O ] $600
BIOPAT4 $1.2005804= $600
B OFifi $1,000]BEO $600
OB $10,000[EHOH $600
PROZ=E $500| EO= $600
BHONE $1,000[ZEOF % $600
RO $500[#%O I $600
JBOE $200[ Oz $600
RO $200|=OHF $600
RO $200[ OB, $300
KO& $200[t5O1E $300
RO $200[#5 OB $300
BO% $100[FO% $400
BO#H $100[&x O F $400
BO#H $100|&F O L& $400
£Z0Om $100 &k OHf $400
2208 $100|= O $600
BROZH $1.200[FOF $600
FHOHE $3.,600[ = O%d $600
HEOM $3.600[RO& $600
FHOK $200| O $600
BROBE $200[ RO $600
BO£ $1,200) 8k O $600
{TOXE $1,200| R OFF $600
FHOF $1,200|1220O% $300
BOM $1.000|18 O % $100
BIOZR $100[t5OFH $100
=OF $200[t5OFH $100
TO¥MH $500[2£ Ok $100
HOTHE $1,000|1#k O3 $1,200
EOV/N $200[FH O] $1,200
BROAT $100[= OB $1,200
FOFE $100[=OAE $500
RO $1.000{ 5O $500
SO $100[EROM $300
w08 $100[FROHE $300
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HOME $300[m=O%E $10,000
O $100[FZOf& $5.000
FO7E $100[FR OfE $400
O $1,000[FROEF 2R $600
=(OLS $500[ET Ot e $900
RO $200[{L O $600
EOMH $1.000[z=OJE $600
ROZE $200[FROE $600
RO $200[5FOE $5,000
i OFH $1,000{#%OF $2,000
HOEH $2,000) O $200
AEO4N $1,200) O $200
O $1,200|FBOFE $200
ZO% $1,200|FBOFE $200
O $500[FOE $200
HOHH $500[FOE $200
FOH $1.000|F Ot $200
FOm $1.000|F Ot $200
HOR, $500(BE OF-4RHD $1,000
O $5.000|F#H O $200
TOE $10,000[FHOFH $200
O $3.000|#H O+ $200
FOZ $3.000|F#HOH $200
EOE $6,000|ZL O $10,000
= OF] $1,000{FHOE $20,000
=OZ $1.000{ZFOF $2,000
s O $1,000[ O] $500
ZOM $100[#OZE $2,000
HOE $5,000[FF O %k $500
=0 $2,000|1 £O% $3,000
HEOMR $300|50%E $3,000
FO&EH $10,000[FEEO1# $100,000
B O $5,000|ZE O=F $30,000
=OE $5.000(FROF $10,000
BEO— $1,000H Ol $1,200
MO $5.000)1#EO H & $10,000
ROt $1.000[fx O $5,000
HOR $100[AROF%z $10,000
TOWE $500[FFOR $900
ER@): $500[FREO = $10,000
H O $500[=OE $5,000
SO $500[BRO E g $10,000
Oz $500[FE OB $10,000
AOF $500[fOZ $1,000
BROME $2,000{ RO £ $500
FO%HE $3,000| 5O 2 $50,000
HOZE $10,000 | i (1775 2 E PR e s e (0 TR $10,000
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ROH $1.200 {5/ E R AR/ ] $50,000
tROBE $1,200|&£ O1E $5,000
RO $1,200{ =0 $500
HROE $1,200) %O $100
FHOH $1,200| O $400
HOE $2,000[ £ O $200
#FOH $10,000)5ROEF $300
O $500[FROFE $500
MHOFE $500F O %k $500
e Ot $500F O $100
BROZE $2,000] 5= O $500
BOH $10,000)42 OFL $100
HO%k $500[m= O $1,200
WOZ $1,200|BR Ot $1,200
FOME $200|E=0OH $1,200
FEOLC $200[8FOF= $1,200
HOF $200[#F O $1,200
FOHE $200[#F O $1,200
BROBHTR $5,000[FR O Fk $1,200
ZOE $1.000[#2O LB $1,200
VR e [ $5,000[FEO = (#0) $600
BOMH $1,200[FEOF5 $1,400
SEORF $100| EOH $500
FRORL $500] 1= Oj $500
£0U1E $1,200)H O $500
£0H $1.200[IHO & $500
£ZOJN $1.200|BRO &, $600
£Z0B $1,200)BR O $600
BIO= $1,200|FEO8l $2,000
KOE $600[{HO & $100
H#OIT $600[FEORI $100
£Z08E $600[HO%H $100
BRO%E $600[=O £y $500
BOTR $600[= O $100
AEOH $1.000[z=OME $100
FOF $1,000|E= O $100
BRO% $300[#EO Je $100
FOZE $500[ = Ot $100
FOE $1,000[#EOE $100
BOE $12,200|#8 O=H $100
s OBk $500[3E OFAL $100
BOMR $6.000)#8 OHd $100
BROE $500[# O $2,000
FHOZ $1,000[#EOE $100
s O $600[B Ok $200
s O $600 7 O $1,200
MO $1,200[FR O $600
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=0X $1,000[O=L $600
ZEO1H $1,250|880O%% $600
RO $1,250[ 5Ol $100
2O $1,250|1# O & $100
O $1,250|4F50O B $200
PR ORE $600|=O% 1] $100
pROFH $600|=OfH $100
TEOHE $1,200[RO% $100
ZOEME $600| = O $1,000
ZOHH $600[FERO $600
=0O%F $600| ROk $100
PO $500[FEOZL $10,000
O $1,00052O7K $50,000
B ORER $5,000|FE O %E $6,000
EOIE $100| & EEEAK)E- REAE $600
2NOZ $200| =0 $2,000
tROM $1,000( EOBIE $1,000
2 OE $100[ZB O $1,000
FO% $300[EEOE $600
RO $300|E O $2,000
FOxX $5,000{z&= O $1,200
HOT $1,200| EOLL $100
P OBH $500| EOE $100
ZEO%E $500(FR OF5 & $600
BORE $200(PR OF5 = $1,000
FEOZE $500)| EOREAL $2,000
FO& $500{ZO $700
=OFE $1,000|FOJ1] $2,000
B2k $2,200|BEO4T $100
=0%F $800| 1 OFE $100
RO $200| RO $500
TROBE $200[% O[E] $100
BOHE $500|1#ROZ $100
BOES $500|1 0O $100
P O] $600|21OH $100
RO $200|=O%E $100
SO $200[EF O $1,000
EOx $600| R OHE $500
O $600[FEO 5 $1,000
=HOH $600|ZEOH. $1,000
=HOAD $600[FROZE $1,200
=N $600| EOX({HD) $1,000
=HOHE $1L,000[FEOE $10,000
=O $1,000[ER O $500
EHOF! $1,000|BRO%E $500
BOX $500[EE O $500
ExOZ $500[ER O $500
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i O E ok $1,000[F8OFE $1,000
O Bl $1,000) ¥ K5k $9.100
HOBE $500|F O $500
O $500|EO= $500
#HOE $500PTOE* $100
PRO4N $1,000pTOH $100
s O $500[EROfEAE $100
O $500[FROF* $100
BROH $500[ER O $100
BROZ $500[FR O $100
FOBK $500|#OFF $100
BOR $500[#FOF= $100
BROHE $300[Z OIEl $100
BEO= $1.500|1#F O $100
HOF $100[#£0O $100
FROIH $1,000{2IOH $100
O $100[m=O%E $100
Oz $1.200[ZEORE@HD $50,000
#HO $5,000|FE O $1,000
=OH $200[FEOHH $1,000
BROH $100[BBOE $1,000
Z=Olige $100|FEO= $200
BRO$ $100/2£0 $200
=OB $100/2 O $200
HO% $100|ZO% $200
FHOIK $100[HEOHT $200
AOR $100[HO= $200
RO $100[z20O1% $200
ROE $100[HEO#= $200
RO $100[Z=OF% $200
AOFE $100[HEO#E $200
HO#&H $100[4£O $200
FOfE $500[ZF O $200
O $200[EBOfE $200
=ORE $200[ECO $200
FHOHE $60,000|ZF O $200
ZOkE $100[ZFO% $200
O $5.000|F O $200
RO $2,000|1# O $300
H O $5,000| 5= O#f $100
HOEE, $5.000)5=OF $100
2 OF $10,000) B Oy $100
BOE $100,000{E O $100
EOR $1,000[{TOHHRTZE $100
PO $1,000[EOHE = $700
EOC $1,000[BHOH $700
MHOZ= $1,000[#OFF $300
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SR I $1,200[FR O $300
EESES $1,200|ZRO L $300
i/ DI $1.200[E O $300
1 $1.200[FEOF 0 $12,600
(2 $1,200)&= 0O+ $3,000
JLHESE $1,200) T O $600
EEG $1,200| T O $600
m= $1,200] T O $600
BEK $1,200)| T O=E $600
I $1,200)|ZE O $600
ER $1,200| T O= $500
TREETR $1,200) T OFE $500
i (B8 $1.200( T O## $500
S $1.200{E0OZ $500
FEE $1.200)¥O%& $4,000
R $1,200|#H OF $100
A AT $1.200[z=0O $100
BREZAN $1.200[=0 $1,000
MG $1,200)#E O $500
Bk $1.200{EOHE $100
#rOAE $5.000[ O $200
O $5,000{= O $500
=0% $2,000| £OLL $1,330
BEO% $1,000|=0O%F $100
B Of $1,600[FROF $500
TOFHHE $200[ = O $100
=0% T $100[ZOL/NBK) $200
RO $1.200{ZFO% $15,000
s O $2,000|FO% $260
HO= $300[5OJT $280
PO $1,200|5=0O 7T $15,000
EOH $3.200[7R O $260
EOR $1.000[7R O $15,000
RO $500[F Ok $260
FRO®E $500[F Ok $15,000
RKOBK $500[3EOF $100
ROIK $500[z= O $500
FEOH $500[FROH $1,000
HEOHE $1,000| O $200
£ONE $3,000[FEOJEZE K $3.000
PR O ik $1.200{5 O $500
BEO4H $500)EFONH $100
FAOH $500[2EO $100
AROIR $500/F O $250
HOJE $1,200| AR O $250
ZIOH $500| EOEE $200
A [@LVA $500[ZEOEL $500
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FOE $500[fEOK $500
EOL $1,480| =05 $1,000
ZFO58 $200[fR O $500
PO $500[EEOFE $30,000
B O] $500[ZFOPE $1.000
BO= $2,000|122 O $200
B Ot $2,000) ¥ O $1,000
R HEE AR/ E] $1.200[= OBk $5,000
HO® $500|E=ORE $4.500
iz O1E $20,000 TO=z $6,000
WOk $1,200]faf O $2,000
HEOFE $300|ZF O $260
g OB $100|ZF O $260
ZOR $100[ZFOH $260
BROIE $100[ZFOH $260
fiti OF $100[ZF Oz $260
MHOZ $1,000{#ROEE $260
BROE $150|RO& $260
E=ORY $10,000[Z=O}E $260
H O $1,000|F O $260
ZFOHE $250[ZF OBk $260
fTOTF $100[ZFO& $260
RO $300[ZF O $260
BOB&T $129,000|12F O T $260
ROSHE $300[ZF O $260
SOt $300[ZFOLE $260
RO $500[FO & $260
BROME $500[F O $260
BROZR $100[ZFO%H $260
EOHE $100[ZFO4k $260
GO $100 2 RS20 B T (b2t $10,000
sHOH $100| & T i Wl 2 Fg B 2 B Tt $20,000
= O $200|5FO=E $10,000
BIOH $1.200|FO& $1,000
BROE $120| = OFF $100
F O $1.200|2£OF $500
BROSE $1,200|1#+O $1,000
EOFEM $1,200{FE Ot $1,000
OBk EE $1,200[FEOZ& ) $200,000
RO $600[FRO= $500
HOHE $100[tO== $10,000
AEO8% $200(21ORk $4.000
RO®E $200[=O%i $500
FRO#E $300[FOEH $1,000
RO $200)| £ OFE $1,000
POt $100[ = O $200
w3 $100[#F O $200
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BIOH $100[f O’ $1,000
s O $100[FRO# $100
HOF $1.000| = O $200
FOEZ $10,000#£OF* $200
PO $1,200|1 85 OF $200
O $150[t O $200
BROZE $150[BR Oty $3.000
BROZ $150[fEOFE $500
BROH $250[ RO $1,000
FOE $1,200| RO $300
AEOFES $500[/H O $1,000
i OIE $100[)TO# $200
fifi O $100)’ TOE $200
LO= $100[m= O $200
O $100 &k O 75 6 $200
g O $100|2IOF $1,000
O $100|E=0OE $1,200
qOE $100| O $1,000
FOZ $100[ R OFEE $30,000
BRO®& $100[fROF5 $200
e O $100[BR O $200
SO $300[& O $200
HOHHE $300[;EOTT $200
s Offi $100|= O $200
sTOf2 $100[{E=OFE $200
BOT $100|FE O $200
EHOH $100|MEOEAE $200
sHO $100[BROFE $200
BROEK $100| =05+ $3.600
RO $100[;EO T3 $200
BROB $100|E=ORK $500
@) $100] T Oifl5= $1.600
BROH $100] I Of (B $1,600
BROME $100[ T OF $1,600
PROE $100| T O=F $1,600
BROZ $100[ T OfE $1,600
PROE $100|FHOE $1,000
PR O $100|ZFOE2 $200
BROLT $100[ZFOE. $200
RO $500[ RO $200
FEOEED $600[2£O% $200
HOR $1,200| RO $200
PORL $1.000 AROH $200
O $600|EOTT $200
RO $1.000)47O H $200
FIRG)DY $100[FFOfE $200
PMOTR $100[#FOf& $200
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2IO& $100|220OE $200
BROZZ $100[#FO% $200
PO $100[ZEO % $200
O $100|2£OFE $200
FOFHH $1,200{#OE $100
TORE $300[EOZK $100
1O $10,000|8 O $100
FROH & $7,000|8EOE $100
O $1.000[EEOFE $100
FOMR $300[EEOE $100
HO $10,000[BAOFZ $100
AHEOE $100|22 OB $200
FEORM $100[tZ O $200
AEO $100[#O I $200
RO $600[#5 O $200
BEOE $600[#5OH $200
=0% T $200[t5OFH $200
EOW $1,200[#EO ffig $200
RO $1.200{52O%E $200
mOE $200[BR O $200
ROF $400| R OF $200
BRO1E $200[BROL $200
=OEE $600[BROHK $200
HOE $600|fH OF5 $200
RO $600[#FO%z $200
=0 $1,200{BE OBk $200
FO1E $1.000[2£0%= $200
BEOZR $1,000|E= O $1,200
ZOfk $1.000[EFO % $100
Z O $1.000[EFO % $100
£0E $300[5= O $100
TO=E $300[5= O $100
BRO%E $300[#E O $200
BRORE $200[FEOfE $200
HO%H $1,200|F O $200
O $1,200[FRO & $200
s Offg $1.200|F O $200
g Ot $1,000{% O $100
O $1,200)1210& $10,000
MO $10,000{21O5 $10,000
FOfH $125|BIO%E $10,000
FOf $125|PROZE $1,000
HBOTE $125 )=y $200.,000
FO% $125[F O $200
A OF $3,000|EO%z $1,000
RO $500[ 2O $500
A O% $3.000[%50O & $12,000
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BROBIER $10,000| 5= O%e $10,000
BOFE $2,000|18O2 $1,000
BOK $5.000{ 52Ol $3,000
O $5.000[ &2 ORd $250
A O $1,200] 8 O $62
HOHE $1,200)% Of% $62
HOH $1,200)3H OFE $300
H O $1,200|8 OF $64
HEORK $600| 4 OHEER $62
SORE $600[ZFOLL $200
FEOW $1.000{#R O $1,000
O $500[ 5O $1,000
BEOR $2,000)BE Ot $2,000
BHOE $5,000|=0O%F $630
B QLD $10,000| 5% OFEREIF $1,000
BO% $10,000|#£O $1,200
B O $2.000[FRCO $1,200
BOM $1,200) 07T $10,000
PHOF $1,200|BEO%E $600
BROdim $1,2005BO%k $600
EORE $600|EEOE $600
O $600))EOHE $2,000
BLOXK $600|E=OH $600
PRORE $3,000[ROEHE $2,000
WO= $3,000)BEOAK $100
Ol $100|FEOE $10,000
BOM & $100[HEOEE $200
BROE $1.200|18O % $100
=2 OF $100[t5OFH $100
ZRRes AR E] $500[t5OFH $100
5 RS- REAE $600[2£ Ok $100
il 15 $1,200{Z O, $10,000
B AR AR E] $3,000) &= O $100
TREENE $1.200| O $100
SRR $1,200|E O $100
H =57 $1,200[t5OFE $200
HFEFER $1,200[7k O $600
HEF = $1,200|1ZO $200
RO BAL $1,200|BEO%E $600
=0% T $1,000[5OFE $600
ROBY $1.200|1#OkE $200
BO $2.000|1O % $200
BO4% $1,000)FEO== $200
E O $1.000{EO*% $200
TOfE $2,000{EO&K $200
FHOFE $1,000| O $200
F O $1,000|FOE. $200
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FOE $1,000| EOAHD $200
HO $1,000[#OZE ) $200
A OFD $500[= O $200
FRELRBEREAD $3,000)HO%E $200
BOR $400[HEO $200
@) $1,200|HO $200
PROHER $600[ZEOFEEHD $600
mO= $300|E=O%k $600
RO $300|E= O $200
o $1.200[=O# $200
8O H M $800[E= Of& $200
KROJEE $600[ = O $200
KO $600[= O ([#0 $200
RO $300[t5OF $2,000
g ORE $800[tHO 2L $30,000
=0 $1,200) B Ok $1,200
HO4 $600[FHOF $1,200
HO1E $600[FHOF $1,200
= OFERL $300[ 52O $100
MHO% $300[= O, $100
BO% $400|HOf= $50,000
i O $400pTOZE $50,000
H OBE $400| EOFEE $200
BOE $400[= O3 $100
PROZE $300[F=OBE $100
H O $300[E=OF $100
A Ot $300[#EO Je $100
HOFz $300[ = Ot $100
O ST $300[#EOE $100
H O $300[HECO=H $100
FH O $600[3E OFAL $100
O $300[HEO M} $100
=0/ $300[t5O%E $500
O $300PTOXE $500
RO $300[RO= $100
= OFF $300[#EOE $100
mO% $300[FHOHF $1,000
E QR $300[FR O $1,000
BIOF $300[HOZ $1,000
= Off $300[tOH $1,000
AOTE $300[{TOHRER $200
E=ORY $300[HOH $1,000
= ORI $300|F O $200
BOE $300[ 52O $5,000
jvEafisa $200,000| Oz $100
SO $1,200|1ZOt& $100
sOREE $1.200[#O = $100
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FO&uE $1,200|EFO1= $100
21O $1,200[EF O $100
HOFH $500[22OH $100
TOMHE $300[fa O3 $100
" LOEEE $300| FOE $100
SO $3,000[FROZE $200
Ok $2,500(BFEOBH $100
ZO%k $2,500(BFEOBH $100
HOZE $2,500[zOH $100
OB $2,500[z0OH $100
IO $15,250[ = O & $100
FOtE $2,000| = O $100
P O it $1,000[&= O $100
HOH $1,000[&= O $100
CHEN JUSTIN $1,000[&= O $100
SFOE $1,200[=OFE $100
HOLp $1,200[E= Ol $100
ZFOPE $1,000[E= Ot $100
TROE $100|2OFE $2,500
BOE $20,000 (B O3 $500
BOE $20,000(#£O& $5,000
FEO# $500[ FO#ZEE $600
FEOMT $500[5iE O $500
HEOR $1,000(pH O%E $100
EROJE $200(fE O%E $100
O $1,000( % OBH¥E $100
78 OB $500[E OB $100
EOK $30,000EOF $5,000
O $1,200[FEOIE $100
HOLCER $3,000[EOFI $100
FO=E $10,000(BF O’ $150
EOMR $100[EHO $300
O $100[5FOF $100
EO%E $100[5EO% $300
O $100[5ROEFH $300
EOF $100[Z2Ok $200
2EOFE $100[fEOFE $500
FEOE $150( P O $500
=0k $500( P OZ $100
=0%F $5,000pFO1E $300
SO $500EOTE $100
i OME $1,200[ O $100
#HOZR $1,200[EHOF $100
PO $500[E O (D) $200
FOL $100[EF Oz $100
TORE $100[EO# $200
FOFE $100[FR Ot $100
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ROE $6,000|EO=L $100
TOHE $10,000[ZIO% $100
BO%Z $500[E= OKE $100
TOE $500[EOFH $1,000
FEORZ $1,000[#£O#9 $200
EO&E $1.200{EOHE $150
BROAL $1,200) B O % $150
#®OHEE $1,200) B O $150
FOMH $1.200);EOF2 $500
EHOE $1.200 Ot $100
BO%E $1,200] 1 O=L $100
FRO54 $1.200)&2 O $100
5 OBFL $1,200{50O %) $100
£Z08%8 $200[ & O $100
POHE $200[ 2 OB $100
2IOF $900[ 2 OF $100
BROZD $1.200[FE O $100
FOH $250[FROF $100
H=OJTT $250[= Ot $100
ROM $250 (BB O $300
FORL $250[EROF $300
ZIORL $1.000[FF O fif $100
2IOH $1.000[FOfE $100
ROF= $1.000|#0OF $100
O $2,000|EHO%E $100
TOZF $1.000|EHO$#, $100
BROF $200[BROFK $100
s TOREY $300[FROZ $100
sTOZR $1,200[FR O $100
=0% T $1,200|EF O $100
FEOF5 B $200[BROH $100
E2OH $500[ER Ot $100
O H%k $500(R OF $100
g O $500[FRO2 $100
HOZ $1,000[FROE $100
RO $500f Ot $100
HOEHE $1,000)BEO4F $100
BROIE $5.000| 52O $500
RO $15,000)F=OFAE $20,000
PROE $15,000 B O$#, $100
BOH $12,000) B O$#, $100
HOT $20,000[5RO%E $1,000
O $1,200|5£O1= $1,000
BROfF $500[ET OB $100
A OHk $500[ O $100
RO $200[#IOf% $100
FROSL $300[BROZ $100
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B OHE $1,500| PO $100
[ OZ $1.200pHO% $100
HO¥ $3,000| EOE $300
BORE $2,000| EOF $100
=2 O% $30,500| EOF $100
RO $1,000|E=OF $5,000
w=OT $1.000[ZF O $300
=O¥ $1.000 O & $100
T O% $300|FEOF $100
ROZ $300[HO%H $100
IOY $300|5E=OHH $600
g O3 $1,000|BHOZ $600
HORg $500[ R O $100
BEOZ $1.000[FRO $100
BO# $1.000[FFOE $100
PROE $100[5TO%E $100
BROYEME $100[FR O $100
PROXE $100[ =0+ $100
NS $200| =05+ $100
HOZ $1,000| =05+ $100
FEO=E $1,000|=0O%F $100
EHO#ED $500[fAT O Pk $500
EOHE $500[ = O $200
ROB $1,000)5=01G $200
s O $10,000|Z£ O $100
EOA $500|22 OB $100
O $500[HEOFK $200
AROR M $1,2001 2O $200
O T $1,200) 7RO $200
RO $1,200[5RO 5. $200
SOH3E $1,200)5ROF $200
Z0O $600[ = O $200
FROZR $1,200|5ROA§ $200
HOE $1,200| EOH $600
s O $1,200) &= O $200
PO $100[FOE $500
REGE TR $1.000|1 P OF& $200
FO= $100[#F O $400
£0 $100[21OF5 $500
ZO% $100[#O 5 $2,000
ZO% $100[HHOFE $300
FOM $100[#5O 2 $200
HOE $100[ POtk $300
Z O $100[FROZK $200
FHOFE $100|A& OB $600
ZOf% $100[AROF $600
HOZE $100[AROH $200
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HO $100[#FO4= $600
FORH $100[#FO4= $600
O $100[#FOfG $300
O $100[#O %) $200
ZF O $100[#OF= $200
FO5% $100[#H O $200
FO% $100[#H OB $200
BOE $300[# O $200
O $2,000| kO3 $200
BOX $3,000]H# OF $200
PO $2.400|#H# Oh $200
TrOZ $1,200[#FH O $200
MOZ $200|&# O T $200
MHOEAE $200[#OE $200
BROTE $200|F O%k $600
FAOEM $1.200|EOH: $200
£OF $200[FE O $200
£Z0OlE $200[= O $100
ZOE $200| % Ot $1,000
FOEL $200[5O% $200
FOR $200|E= O $500
PO $200|f O $1,000
O] $200)| £ O% $500
OB $200|FOff $125
PO $200[ZF0OH1 $125
PHOLT $2001 % OFE $125
FOH $200|F O $125
MOE $200[= O3 $200
HO1E $200| = O $900
ZOE $200|21OF $900
MHO%E $200 AR OFE $400
Z 04w $200|E=Ofk $400
£OWE $200[= OF] $400
#O4 $200[t5OF $400
HOZK $200| 21O $200
O $200[= O $500
EOME $200]| EOELED $200
BEOZEE $200[2£O% $500
BROLL $200[ZFOHk $500
BRO 538 $200|22OK $500
BROE $200[fROF53E $300
BROZE $200|H O P4 $100
BHOZE $200[# Ol $100
BHORZ $200(#5OF 2 $100
2208 $200[EEOETF R $3,000
BHOH $200|HEOF $1,000
BOE $200[HrOF $1,000
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HOHE $200|E=0OH $500
BOH $200[FHORA $200
BO# $200[BROF* $100
O i $200[FROF* $100
RO%E $200|E= O $500
BROE $200[ & Of $100
FOF $200[ 2 O&L $100
BROL $200[#FH O $100
BROHE $200[#FH O $100
BROFT $200[7= OF $100
BPOH $500[z= O $100
MHO% $200[FR O $100
BROZE $500[BR O $100
£0% $1,200)BR O $100
Z0= $200[BR O $100
MO $200| EOH $100
HEOFE $1,000{ O $100
FOEE $1.000) B O£ $100
FEOF S $1.000) B O£ $100
FEOfE $200[FROfZ $100
FOi $200[FR O $100
BREH $200[EFOi% $100
fEIH A $200[EFOi% $100
PR TR $200f O $100
PGS $200[BRO = $100
FOHk $1.200[FFOF $100
BOE $100,000|5FO=E $100
i Ol $1,000|5F O e $100
HOHEE $6.000)5F O e $100
PRORE $1,000[5FOF $100
BIOF $100[5TOZE $100
BIOFEH $100[FR Oy $200
B0k $100[HAOHk $100
BIOEED $100[#5OFL $500
21O $100|5=O8 $1,000
BIOE $100[F=OF $300
FOM $100[5O=~ $200
BIOHE $100[#F O $500
#OH $100|FPOJEAR $10,000
2O $100|FPOE $10,000
HO=E $200[FR O $20,000
i O $1,000|BOZE $1,000
it OF7 $4.800|ZO $1,200
HOHE $1,000) B O$Y $100
FORE $1.000{#F O $100
s O $2,000|BEO H $10,000
BRO% $300[EEOEE $750




MEEANSETRAIDFEHEENESE
OIFHMEE (TEEMR : BEFREARETL)

241 Pk A it i L
FIORK $500[f O E= $750
HOE $500[FR O &< $1,000
MHO& $600| ZesRaR e A IR E] $500
PR O i $2,000{5OFb $600
& Ofi $1,200)x O3Bl $1,200
O $2,000]#£O $600
BOEXE $1.000[=OfZ $2,000
ZOF $100[HEOFH $200
Ok $100[BROHk $600
MHOZE $1.000|EOfE $600
ZOE $1.000[F=O= $2,000
AEORF $1.000|FOF $500
RO $2,000{BRO#F $200
SO $5,000Z Oligg $200
O $250[FRO#h $200
GO $50[2N O & $600
gO& $50| EORES $2,000
SO $100[ 2O $200
MO $600| EO= $200
HOETE $600[FROF5 $200
BOF $1.000{5OH $600
2O= $S0[FH O/ $2,000
g OHEER $50| B O $200
MO $3.000) = OF $1,000
RO $600[ = OF- $1.000
FROAL $600[ = O $1,000
RO $530|ZR OB, $1,200
O $1,000| &= O $500
RO $1.000[7RO= $2,000
PR O $500|ZF O $1,000
MO $2,000[ERO%= $100
FROBED $20,000| =05+ $2.000
BROPTR $500|fH O $1,000
AO $300[ RO $1,000
#FO $1,000 75 O%& $5.000
FO% $200[ZEO & $20,000
wHOFE $500| = P8 T fb ey $500
LORE $5,000[FIOF $100
=O¥ $500[2IOZEER $100
s O3E $3,000|12I1OJ= $100
EREEHET $50[2IOFEHD $100
BEOBH $100|2IOJF $100
HOH $100[FOE $100
EHOM $100[H= O/ $100
wOZ $100[B[ O $100
s OfE $100[= O $600
EAO)E] $100[= O $600
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PRORE e $1,200| 5= OF]] $600
O $100| = O% $600
=HOME $100|2OF $600
O $100[BEOZE $600
=OT $100[ZEOH $100
EOL $100[ZEOZ $100
(O $100|%E=O% $10,000
PROZE $100|E=OJFH $100
=HOF $100| = O $100
= O $100| e O $100
=01 $100[E O $100
BEOL $500,000| = O#E $100
ROF $500| IOt $100
HHO ATk $1,000|fHOZ $100
O $50,000 2 O% $100
TORLE $200|= O $100
TORE $1,000| =01 $100
=OE $2,000{#7 O/ $30,000
=HOWs $2,000|1 RO $1,000
O $100,000 (B Ok $300
HONE $500( P O+ $200
FBOFE $1,000[#5 O $400
=OE $2,000|#E O A%k $1,000
BOFHH $500|#& O $200
20% $300[BEO 2215 $100
RO $300{BHOZ1H $200
FORESD $2,000| ROl $500
PR OB $1,200)58 O¥ii $500
#OJI $2,000{E=Ol5 $2,000
210 $5.,000| 2 O $500,000
FOZ $1,000[ ROk $1,000
0L $2,000 75 O $200
FOR $300[&£O B $800
FOR $300[FEOH $90,000
ROEH $3,000|1#AO 7% $300
O ER $1,000| 56 O%F $200
=HOF $3,000[#R O $400
@R $5,000FOFE $1,000
TOE $10,0005F O & $1,000
2OE $10,000| = 0% F $1,750
ROk $10,000 % O $1,200
=O%T $1,000|210%E $300
SO $300|5O% $400
FOE $500|2£O#% $400
OB $100|2£OF $400
=% $100|ZBOZE $400
BRO% $1,200|F O $400
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g OH $1,200(# OF% $400
g O%> $1,200{BAO %% $400
MOEHD $3,000| O FA#] $400
EOuH $10,000[EF O $400
FOH $600[#OF= $400
Z0 $600[20O= $400
F O $600|FE OA $1,700
FOF $600[BO%x $200
FEO%K $600[5=OFt $600
ZOWs $300[FR OfE $200
ZOWs $300[ 5 O $100
ZOZE $300 /7% O T3t $200
ZFOZE $300[ kO $3,000
=O#H $300fH O=Z $300
=O#H $300[FROf= $300
ZOR, $300[ER O $300
ZOR, $300[FRO= $300
MOHEED $10,000TOE® $100
FOFERL $6.800p O $100
FO% $1,000|EZO{= $5,000
Rk $1,200|FROEESE $100
ATTER $50,000/FROF* $100
FEEBHE $50,000{FR O $100
O $200[ER O $100
O $200|#OFF $100
2102 $100[5ROF $600
w= Ol $200/ 5Ot $600
PO $2,000{ =0+ $500
PO $2,000[2£O% $500
SO $50,000|ZBO$# $300
AIOYT $600[FEOIEZE A $3.000
GO $600[Z£O% $200
=O® $1,200|2 O $1,000
HEOHE $600|BFOZE $1,000
RO $1,200)|BR Ot $3,000
RO $1,200[# O $200
O $5.000{ O HD $500
RO $100/2OF5 $100
FOBE $500[= O $500
= O $100[ £O% $100
T O $500[ O RELH $500
O $200[ Ol $500
RO T $200[7R O $500
ZO% $500) E =T $10,000
FOuk $500[FR O $1,500
£ZOK $500[FEOHH $1,500
#FO KRR $800| R O A7 $3,000
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I OR $500[EBOfi% $1,200
MO $1,000|BROZE $3,000
5 OL/NDK) $200| OB $600
BIOZR $100 | i Offg#(] $600
ZON $200|s OZFE $600
BOH: $1,000| 7 O=L $600
EOH $3.000) 7 Ofts $600
#FO4 $1,000| 7 O#E $600
ROZ $200[F O $600
s Ok $3,000| EO=2 $600
BHORE $10,000{ FE O $600
S O $1,000| EOFRL $600
HOF $100| O $600
O $100| EO= $600
FO8 $200[E= Ok $600
SO $500[ EON- $600
BIOIFEER $300|ZF O $600
EORL $500| £ O $600
PROZ= $500{ £ OO0 $600
£ O $100[BROH $600
FHOK $100[5FO $1,000
AOR $100[ETOF $500
RO $100[ETOI $500
ROE $100[EFO e $500
RO $100[5T O $500
AOFE $100[ EOF $500
HO&E $100[5FOF $500
BOM $1,000|5FO#E $500
O $100[BEORK $500
=(OLS $500/2£0O $500
s O $2,000{2£ O] $500
BROR $6,000{ZEOF $500
BROETEE $5,000[#ORE $500
O $500[ZE O $500
BOZEEFER $1,500|5F O $500
SO $333[2£07T $5,000
HO8L $667 | O= $600
JOR $333[MOFH $600
JIORE $667[FEEO= $10,000
JHOR, $334|F O $6,000
HOR, $666[FH O $1,000
EOZ $250[HEO=HE $5,000
FEOIL $250[FH O $1,000
EOH $250[=O %+ $2,087
O $250[ OB $10,000
s ORE $333 |k O 73 $10,000
EO.L $333|5OiFF $5,000
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w0 $334| 2 O a0 $30,000
BROSL $100[EEOE $10,000
O $100[HEO 5 $5.000
BROTE $100)73=O& $10,000
BOsH $67|BR O $3.350
BIOHE $67|FROELRL $3.300
BROAT $66[FH O $1,000
=OR $500[ O $1,000
e O $500[FHO=E $10,000
EAON $500|OFE $10,000
50OE $500[BRO%R $3.350
HOMERT $500[EFO i $1,000
HOAE $500[#AOIH $1,000
BEOR $500[FHO%E $300
BOWF $500|ZFO1E $10,000
FOJM $10,000 £ &S 22 $1,000
EO¥a $10,000 | Fe x4 $1,000
FO%= $1,000[FEEOEH ) $2,000
LOHE $100|EEO%E $100,000
TOEH $100|ZFOEWHD $10,000
BOZ $220,000[/HOE 2L $10,000
hic S $300,000 i O Fal 48 $300,000
o {5 $10,540| FOFEE $2,000
S $10,540[=O $1,000
FEE $10,540[ L OxE $1,000
AR $10,540|EOHE $100
PREFER $10,540[5E Ok $1,000
Bk $10,540|5FO$#, $2,000
LB RS DL (R $632.401 [ O $500
e lid $10,540|1 O % $100
RIS $10,540|1 5 OF] $100
2R $10,540| 8 OF $100
235 $10.,540|22 Ok $100
i $10,540| FH OF¢ $1,000
L $10,540[z=OF $100
I AR $10.540|EOH $100
i (B $21,080[#EOE $100
S $21,080|8O £ H $1,000
TR S EA PR 5] $31,620[EF Ok $300
BHOZE $200[HO%k $1,000
FO&E $1.200[F O $1,000
#FO® $100|HO= $1,000
FOHk $1,200|F Ot $1,000
O $1,000) %O $500
#O $100[/HCOHA $20,000
RO $100)EOINH $100
=04 $100147 O $2,000
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#FOZ $100[BEOF4RHD $1,000
FR O $100[fAf OBHREZ $200
RO $100|ZF Ok $1,000
FROE $100[EEOK $300
#®OZ= $100[{TO& $500
EROZE $200[ 2 OH $500
BROA] $200 R Of#E $500
RO $200[#FOF4 $500
RO $200[#AOF $10,000
BIO= $2,000) B O $600
=OMF $2,000| 5 O% $2,000
= O5h $3.000[ZFO= $2,000
BROIS $1,200[# OB $800
BIRELE $3.000[EEO~F $1,000
PRO%F $1,000|12FOFE $2,400
FOP $600fH OF= $500
O $600[E= O $500
PO $2,000) O $2,000
HOF $1.200{FEO#2 $100
BROHL $600[FH OB $1,000
BEOE $600[FEO $10,000
ROH $600[ F O $1,200
FOH $1.200{ZF O $1,200
HO=E $300[ZFO $200
£0H $300[FEEO 2= $1,500
BORE $100[FH O $100
RO $12,000[F=OE $100
FO= $600|EO3- $1,000
ROE $100 O $500
FO%= $100[ = OFF $100
BROF T $5.000[2£OF% $500
HOEZE $600|BEO1E $1,000
s2OHE $200[ZF O $300
=OE $200| EOFEE $200
=0T $200|BHOE $100
s OR] $200[HOZ $1,000
BROZE $200[ = O $100
BEOFIE $100|fH O $1,000
=OX $100[FH:OHF $1,000
PO $1.200[Z1ORK $1,000
FOK $40[21OFE $1,000
FOHASL $10,000{FIOF5Z $1,000
FEOM $1,000|E O $200
=OH $900)| £ OFE $1,000
EOTE $1,200|1tROH $1,000
RORE $1.200[HO*E $50,000
BOMEGED $5.000) 21O K%k $100
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FOER $10,000[fR O $1,000
SO $100| EOEE $200
£0% $100,000 [ O%fE $1,000
=0 $500[FEOFE $500
BROBWER $10,000)7FO-P] $200
OB $50,000[BROH $1,000
HEOF $5,000|=OfE $100
O $1,000|E=0O% $10,000
w=OfE $5.000) 8k OFE $5,000
PROF- $2,000{Z2O% $10,000
RO% $7.000{ O $200
EOX $200,000[EOF $100
BROF $100[HOB $200
BROE $100[ETO%E $100
HOWM $100)#EOK $100
EOTE $100| =05+ $100
SO $200| 22O $100
EF=ORE $200| 7 OFE $1,000
HOZR $200[ 2 OB $100
(@5 $5,000[FR O $250
OECHE) $10,000| HAO) & $250
MHOE $1,000|#H# O $100
HOEE $3.500[ 5O $1,000
SEORF $100[ZROE, $300
PO $10,000) B O$Y $100
BROK $200 | O $100
BRO= $2,000)22 Ok $200
O $1.000/EEO & $500
BRO1E $700[= Ol% $2,000
EOEF $1,200|1#+O $1,000
ORI $10,000)E Otz $1,000
gO& $500[E= OZ~EFK $610
—0O% T $200/f OF= $1,000
(@i $100|2£O# $1,000
wOME $100|2£O%F $1,000
w=OH $100|2£O% $1,000
FOE $100|2£ 08 $1,000
= O $100|2£ O $1,000
EOE $100[ZEO$HiEE $1,000
O $100[Z£OZE $1,000
O $100[BIOE $300
HE O $100[FRO &= $500
MHOE $600|FO= $12,000
HOME $1,000) &% $510
HOT $100 R OF5 5t $500
FOR $100|= O $200
EOV/N $100[#OF* $200
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HOE $100[t5OFH $200
MOBER $10,000{t5O%% $200
BROREFR $8.000|EOR $500
HOE $1,000|BR O3 $200
FO% $1,200[FR O $200
w=OF $200[ 2 ORd $100
EO# $200[FEO i $30,000
B O% $200[ZIOEL $300
BOE $200[FIOFk $600
#2O $200[;EOFS $100
BROBE $100[FROZ $1,200
EO% $2,000|1#xO% $1,200
BOE $100[PRO $1,200
AEORF $1,000) B OF5 $1,200
BORE $200[BR O $1,200
BO= $200[t&ESF $200.000
FO* $200[=O% $500
+0O¥% $200|s O $1,000
OB $200| = Off $1,000
T O $200[EEOE $10,000
ZOR, $200[BRO Je $1,000
£0H $1,250)&£O $1,200
BROBK $1.250|BR O, $1,000
£01E $1,250[FROA $500
£20= $1.250[ 2O $100
w08 $100[=O%+ $500
TOEEHD $200|E=OF1 $100
MHOBEHED $200[ = OF $100
O $200P Ol $300
HOE $200|/5OE $200
HO $200 LOZEER $300
O $200| EO#= $300
FO7E $100[FRO%E $100
FROAL $600|2£Of% $20,000
s Of% $1,000) B O$#, $100
s O $200 R O $100
=OH $200[ =0 %+ $500
wOfE $200[FOZ $1,000
s O $200| =OH $300
OB $200{#FOF $1,000
H O $3,000)BEEOF* $100
HOEHE $2,000[z= O $100
tROH $1,000{BROHE $100
A OHk $500 R O $100
BO: $100,000{ F O $100
BEO $1,200) B O£ $100
FOR $1.200]BR Ot $100
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fifi OHR $2,000|5FO%% $100
BXOUE $1,000(PE O $100
BO% $2,000|5T O $100
FO $500[EFO f, $100
RO $100[5TO%E $100
2O $1,000{= OBk $5,000
A ORI $1.000[HEOKFF $2,000
BOK $20,000{#2O H $5,000
FHOZ= $1,500) O $500
#HOZE $1,500)£O%F $200
O $2,500) 8 OBH $100
RO $2,500| 8 O E $100
FOH $100|BEOIE $100
FO4L $500(%it OF $100
B OFifi $500| EOFE=E $400
O $10,000|BR O $150
OB $1.000[2£OFH $100
RO $1.000|F O $500
BRORETS $20,0005FOF $100
FOHE $10,000|5O* $300
#ROZE $10,000)5ROEF $300
FEO $50,000| 5Ot $300
s O $1,000)5=OZx $1,000
s O $500[FROFE $500
B $1,000) B O3 $500
i OF5 $20,000[BRO i< $100
FO™ $10,000EO*E $100
FO# $10,000| & O $100
BOZE $10,000[FHOTE $100
FEOH $15,000{ &= O (#) $200
MO $1.200)#E O $200
HOEK $1,200{ kO $100
HOE $1,200)E 0L $100
MHOHE $1.200{Z1OF $100
PRORL $1,200{E=ORE $100
FROZ= $10,000| B O $100
HOE $10,000{BRO $100
T ORI $500| O $150
ER Ol $5.000) B O % $150
HO% $10,000| B OZ $150
FEOWs $1,200)|BR Ot $500
HOSE $7.000) B OF $100
MOE $1,000) B O3 $100
HOZ $1,200| 2 OF $100
s T O $1,200|15O%EL $100
#ROFE $1.200);E O $500
it O% $1,200] 1 O $100
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sTOZE $1,200)1 O=L $100
BOZ $200[40 O $100
RO $100|BO%h $100
Z= Ol $100[ & O $100
BRO$ $100[ 2 OB $100
+O=E $100| 8 O $100
BROFT $100[HO%% $100
BRO fi $1,200)B OF& $100
sTOfH $1,200) 5 O%#, $100
BIO# $1,200|E O $300
(O $600|H O E $300
TOH $1.100[FFOfif $100
ROZE $1.200[FOfE $100
FHOH $1.200|1#0OF $100
HOLC $1,200|EHO%E $100
FOE $1,200|EHO$# $100
fLO $1.200{5 O $500
HOB $1,200|5RO % $1,000
HOH $1.200[FFORK $100
FIOH $1.200{HROEK $100
HO¥ $1.200|121O0% $100
210HE $1,200| B O $100
BIOF $1.,200| PO $100
£0% $1.200)#£O% $100
HOZE $1,200)1FO4= $500
B0z $1,200{ FOH $200
RO $1,200{ FOH $500
O $1,200| O $500
#FOZ> $1,200[HO & $100
RO $1,200{FE ORI $100
O $1,200);£ O $100
FR O $1,200|ZF O $100
#ROPE $1,200|1ZOt& $100
HOH $1,200|EFO%E $100
£Z085 $1,200|EOf= $100
HEOLUI $1,200|Z O $100
H#HO H $1,200|122OH $100
2IOLE $1.200 [T O 5 $100
HFHOTR $1,200|5ROA§ $200
PROXE $2,000( % Ot $1,000
HOZ $1.200[FEO % $1,200
SO $1,200[FR OAL $100
w08 $1.200{ EOELEHD $200
EOTE $1,200|#5 Ol $100
A Ol $600[#5OF & $100
PO $1,200| POk $100
EXO $1.200[Z£ O $500




MEEANSETRAIDFEHEENESE
OIFHMEE (TEEMR : BEFREARETL)

it i E S X it i L
A OFg#(] $600| EOH $500
A OZEEE $600| EO#E $500
ROPRE $1,200| F Ot $500
A O>L $600[ZF O $500
ROZE $1,200|FO#F $500
HO&E $1.200{58OF5 $200
#OfE $600[FO $200
HOE% $1,200)ZBOH] $200
Z0 $1.200|FO& $1,000
O $600[#EO A%k $1,000
FOR $1.200|#OtG $100
FOME $600[FO= $10,000
O $600[= Ozt $1,000
E O $600[15O% $1,000
TOBAL $600[# O $500
T O $600 1 O $500
TO= $600|fH OF= $500
w=O% $600[10O & $12,000
T O $600| EOLL $200
F O] $600| £OFZ $200
TOE $600[= O $100
£ O $600| =2 O $100
BROR $600| 5 O $100
RO $600[=O $100
HOH $600[E=O% $100
BROH $600[F O $100
HO $1,200)B O $100
HOFT $1,200) 5 OF] $100
i OFE $1.200[z=Oft $100
BHOR $1,200|=0O1E $100
BHOE $1.200( 55 O3t $30,000
BHOZ $1,200|1#E O3 $2,000
BOH $1,200|HOf $1,000
HOF2 $1.200|HO= $1,000
£20%H $1,200|BEROF $200
ER O $1,200|&F O 75 1] $200
HOFE $1.200{ZIOF $1,000
BOR $1.200| RO $30,000
SOk $1,200[ £ O $200
OB $1,200{ZFO4L $200
HOR $1.200[ZFO HE% $200
OB $1,200|1OH $1,000
BROII $1,200)BR Ot $2,000
LOED) $50,000[FEE O %E $2,000
BOR $1,000) 7= O%L $200
+O% $100|1#5 0% $2,500
ROk $200[FROZA $3,000
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ROZE $200[EXO Je $2,000
FHOHE $200[FEOTT $1,000
INNS=E2 R G i Rl $6,000| £ PEE T b er $1,000
i OFZ $200[#O 2D $1,200
HOF $200)| £ O $500
OB $200|ZF O $1,000
i OFF $200[fIO & $300
HOH $200|5EOF $1,200
HOFH $200fR O1& $300
RO $300[= O $200
MOE $300[= O $200
MHOHE $300[#F O $1,000
BROT $10,000{ HO%& $5,000
O $10,000)# OFK $200
SEORF $10,000[JFOZ $500
ZO1= $200|f OFE $500
FHOrtE $200[ FO#% $500
=0 $2,000|5£ OB $1,000
MO $1.000| AR O% $2,000
s OK $500|AROEE $3,000
TORE $3.,000|1210O % $100
Z0OF $500|4OZF% $1,000
O $1,000) B Ok $300
BEO% $1,000|2 O $1,000
FOR# $1,000]BEO $500
RO $100[=O%+ $300
fZOA $300[E=OW $10,000
s O $500[EFOH $10,000
=0%F $100[#7 O $1,500
BRO% $300|1 O $100.,000
O $2,000)3OF $100
BROZ $500[BIOF $100
BEOE $12,450|BR O $1,800
PROFE 5= $500[HEOFH $100
oOE $200|ZF O $100,000
RO $200|#H OPz $2,400
AROTH $200 | Of $100
KO& $200[== Ol $100
RO $200[FR Ot $100
Oz $1,000) B Opk $500
TORERD $2,000[ IO FEx $100
#FO $200[FIOfF= $100
2IOF $700| 21O HD $100
=10 $500| 21O $100
HOJI $2,000|121O& $100
FOfE $500[F= O/ $100
O $1.000{F1OE $100
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Z1ORK $1,000[=O%F& $100
5 (@) $1,000[#tO#K $100
FOFE $1,000/20R $100
O $250[5 O#k $1,200
O $67 (5RO $100
HO%& $6715RO= $100
HOZ $300|5ROF $100
=HOE $2001 5O $100
RO $1,200( FO= $100
PR OZ: $1,200|fFHOF5 $100
TROZE $600[FROF $100
HORE $500PLO $200
2ORE $500 TOER $200
BOE $66|FEOH $100
HOHEER $100[FEOE $100
ROA $1,0001FFO= $4,000
ZOm $2,000|TRO 4 $600
RO $500[fHOZ $200
PROR $500|1 RO tH $300
MO $1,000|1 RO %E: $300
RO $200| O $100
RO $300|FHOELE $3,000,000
ROE $500|= O $800
=OE $1,2000EO%E $800
= O $50,000 (= AR 2 =F $4,000
O $1,000( 7=/ A 185F $100,000
BO%E $60,000|FHOE $1,000
ROE $1,000[EHOF $300
PR OF5 $500|EO%E $200
=OH $1,000)5R O R $200
RO $200H#EOF $300
HEOREED $600|7EORK $300
HOER $600| O $500
HOF $1,200[#ROR $100
TROZ $1,200|FHOE $200
BOM $1,200CO*E $700
EHOFFE $1,200(#5OH $300
O $1,200[#5OJitt $300
LOB% $1,200| = O $300
HOEE $1,000[;& O $3,600
OB $1,000|Z0O4 $10,000
A OFRP $1,000{#5OEl $20,000
RO $1,200( T O1= $600
FEOZFE $100| =08 $500
ZIOM $200({ 7 O $1,200
=HOEE $1,000[FO1Z $800
mOF $100[3 OB $400
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PO $100] T OHA $600
2O $5,000( & Ot $600
IO $1,000[ 4 O] $600
F O $1,500[&=0O £ $3,000
EOE $1,000[F O3 $200,000
PO §500| = O % $200
#OE $500[ kO %2 $4,000
FOZE $500| £ ORE $3,000
BOTE $500|#OE% $3,000
HOE $1,000{2 O & $5,000
B} $200[ERO ERIZ $800
FO% $100|BE O $100
O $100|=0O%HT $500
BO5 $2,000f5T O Fr $500
BOE $2,000[7EO1A $200
FOE $1,000| 208 $500
FOB $10,000[ Ok $600
S0xX $10,000[=O%& $100
BOAES $100| B0 %% $5.000
O $100] % O $250
=OR $100| & O $250
ROH $100|= O $500
#0% $100|H 32 $300
+O=E $500| EOH $500
BRI AR /A E $2,000[ O $200
A ST $100|BE O $100
BOH $250| EE Ot $500
HONE $500{2£O% $500
BEOR $100| 2O $500
OE $100{ZZORK $500
B0 % $100|pO 752 $300
BEO— $100 8 OfE4E $100
#LOF $100|BEOHA $1,000
25OFE $100|=0OH $500
FEOT $200|220%% $200
FOM $1,200( 2 O $500
FO4h $1,200|5OHf $500
FOul $100| O $500
FOR $100|38OEF $500
fO% $100|3O - $500
PR OJE $500[B= O $6,000
HOSE $1,200{5 OJIE $500
HEOLE 860085 O $500
ExOF5 $200|1#5 O $500
#O8 $250|#O % $5.000
=HOFE $250| = OEHED $20,000
#OR $2501 0T $1,000
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FORE $200[ RO $10,000
=0O% T $600|%= O+~ $500
BROTT $10,000[5& O $500
HOE $10,000[=O $1,000
& O $200|FO1& $1,000
g ORIk $200| &k O $300
& O $200[#O % $300
g O $200[AEOFH $500
2OZ $200|55 O $5.000
g O/ $200[2O%x $200
& Ot $200 7% O <7t $200
FHOIRE $200|f O=Z $300
MO $200[FROf= $300
BOMW $200[ER O $300
AOFE $200[FRO= $300
FOE $200[FEOIEZE A $3,000
5086 $200[#FOF= $200
505 $200|2OF5 $100
=10 $200[/FO $100
20 $200[ =0+ $11,000
O $200[ZF O $2,000
S $200,000{FEO1E $3,000
HASF $200,000|1#2O18 $5,000
#HO $1.000[z=ORE $700
=0%F $2,400| = (h=F $10,000
FOFHEE $200|FHO%& $1,000
B OFifi $1,000|EOE $100
Ok $200[EOFH $1,000
w= Ol $200[BROFK $100
HOTHE $1,000|EEOZ $100
BRO%E $1.000[FR OB $100
AOZ $1,000|EE O $100
PO $3.000)BEO%H $100
KRORL $500[ER Ot $100
FOHR $1.200{FEOF $100
BOF5 5 $1,200)fOZ $100
TR OF5 $1,200[FROE $100
BOT $1,200|BROfiEE $100
i OF $1,200|BRO4F $100
EOH $1,200{ O AL $100
O $1.200(#O AL $100
B Ol $1,200[FEOtF $200
2IO= $1,200|5RO & $600
+Ok $1.200[#ROE $600
FOE $1,200|FRO1E $500
#OAE $1,200)BEOBH $100
BOHE $1,200[ O H $100
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AOBR $1,200) 5 O iy $100
O $1.200[z=0OZ# $100
g OF $1,200|= O $100
RO $1,200[ = Oifilfh $100
IO $1,200|FO& $200
RO $1,200|F O $200
HOES $1,200| PO $100
RO $1,200| PO $100
FOH $1.200|2£O%H $100
RO $1,200)122 O $100
RO $1.200(HOE $100
BRORL $2,000{ O $100
BROZR $1,200[ O $100
PROZE $1.200 [AROH $100
HOE= $1,200|1#EO17 $100
7O $1.200{#kOF7 $100
FOH $500[f7O H $100
FOE $1.000)47OH $100
fi O $1,000[#OfE $100
fitfi OF5 A $1,000[#OfE $100
i O $1,000|1#OtG $100
Jiti Ozt $1,000|1#OtG $100
fitt O 2 $1,000)1220= $100
£ZOF% $200[2£O= $100
HOH $1,000{#HO % $100
RO $1.000{#RO#E $100
RO $1.000|2£ O $100
BFOH $5.000|2£ O $100
LOZY $1,000{Z£OR $100
w=OF $210|2£OFE $100
O $300[3O4= $200
HEO® $500|# O $200
O $5.000| 8O $200
FEONE $10,000|8EOE $200
HEOFE $300|BEOZEE $200
EAOLEES $100[EEOE $200
ZOR $100[EEOFZ $200
HEORT $10,000|1Z£ O $300
sTORE $10,000|18 OB $300
PROIE $100|#7OE $300
fiti OF $100[# O $300
BROE $150[t O $300
H O $1.000|18OF $300
FOE $250[FEO fia $300
sTOT $100|52O%E $200
RO $300[BROE $200
ROBE $500|%2OF $200
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2O $300[FRO=L $200
RO $500 R Ok $200
PR Ok $500[FROF5 $200
BROZR $100[#FO%% $200
EOE $100[2£O= $200
g O $100|ZFOfF $250
sHOH $100[ZFOH1 $250
B O] (#0) $200[5& OFE $250
@RS $1,000)|F O $250
FOHE $100[/EHO $1,000
FEO#H $500[:F OFd $1,000
FOTT $500| EOH $1,000
AEO#% $200[ O $200
RO® $200[EEOH $500
RO#E $300[ZEOE $200
H=O $200[F O $200
POt $100[FROHE $500
E=OX $100|FHO¥E $1,000
BIOH $100| ZesRaR e AR E] $500
s O $100[#F O $500
EROL/A $1,200|21O%& $300
HOF $1,000) 21O $300
TOHk $150[ZFOZK $300
BROZE $150[B1OZ> $300
PROZ $150|ZF O $300
RO $250|F O $300
AEOFEEL $500PTOEE $100
fiE OTE $100PTOH $100
fitt O>L $100[7ROM $500
LO= $100|5FO = $600
O $100[FROF $200
g O $100[BR O $200
g O/ $100[EF O $200
qOE $100[;EOTT $200
HEOZ $100[E O $200
BRO®& $100[{E=OFE $200
s O $100[FE OBk $200
O $300|=OH+F $200
HOEE $300[;EO TS $200
s Offi $100|122OE $400
sTOf2 $100[ EO= $400
BOT $100|f O%k $400
EHOH $100[FRO I $1,500
sHO#E $100[ER OBk $200
BROEX $100[FR O $200
RO $100[FOF $200
BRO B $100[Z£O& $1,000
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@) $100|2£O# $1,000
BROH $100[EOFF $2,000
BROME $100[FROR $1,000
BROE $100[#FOEE $500
BROZ $100] 2 Opa e $10,000
PROE $100| = O $10,000
BROHH $100[5ROF $1.000
BROLT $100[FEOPHTEL $300
RO $500[ZFOfEFE $300
FEOEED $600| EO=E $300
sTORK $100f OFE $600
PROZR $100| ZE=F $100,000
210t $100|21O= $1,200
BROZZ $100[ 52O $100
PO $100{F=OM $500
O $100[#OH $1,200
TORKE $300[FIO& $1,200
FEOF $2,000]#H OF $100
AHEOE $100[E= O $100
FEORM $100[#EO A%k $3,000
AEOH $100[m= O $1,200
ROZE $600[=OHE $1,200
tROE $600|F Ok $1,200
RO $1.000{EFOHE $100
IO $600[/HO& $200
ROZR $200[=O% $500
HOBH $500[F O $100
HOH $300[= O $100
g Ot $1.000[z=OME $100
BROAN $200[5=OF $100
FOTE $200[#EO Je $100
SO $100[ = Ot $100
=OM $1.200[#EOE $100
BIOF $1,000|#8 O $100
ZFOfR $125[#8 OFAL $100
EAOLE $125 FEO $100
HBOTE $125| 52Ol $500
ZO% $125|fROF= $500
=OR $1,200|E= Ot $100
Oz $1.200[#OE $100
O $1,200) 8 OF& $250
O $1,200( % O, $250
=OH $1.200|=0O# $1,200
TOELED $400[z= O $200
PO $100[3EO= $100
PROYELE $100[z=0OH1 $500
BROH $100[ZOFF $300
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FO% $200[EOEH $1,000
HOF $200[FROH $1,000
BEOZE $1,000|FEOIH $100
BEOfE $1.000{#R O $1,000
HOTE $1,400[FR O $250
RO $1,000{ A O $250
RO $1.000{EOEE $200
=OH $5,000[{TOHHRTZE $200
EOT $100[FRO# $100
EOF $100| EOAEHD $200
w O H $200[E OB $200
BEO $20,000) 8 O $100
POBE $1,200|1 PO % $5,000
O $1.200[FFO= $10,000
HOM $200| =0+ $10,000
LR e AR E] $500[z=04 $200
s O $10,000| 5 OFE $1,200
FHO $1.200[22 Ot $1,200
O $10,000|FO= $1,000
s O $10,000|#ROZ $500
s Oz $10,000/%02 $1,700
BOZE $2,000FEO=Z $200
BIOF $100/2£0 $200
FO®E $1,000)1Z= O $200
FROHL $200(2=O% $200
O $5.000[HEO $200
e OBk $500[HO= $200
BEOEXH $1,000)1Z=OFL $200
BIOFEH $100[HEO#= $200
RO $100[Z=OF% $200
BIOEED $100[ O $200
B0k $100[4£O $200
BIOE $100[ZF O $100
FEOM $100[EBOfE $100
BIOHE $100[EO $100
w=OR $1.000[ZFOE $100
HOZE $1.200|FO % $100
#OH $100|ZF O $100
FEO $100[#5COEE $300
SO $5,000| £ OFE $1,000
MHORE $500[;EO 5 $200
RO H $600 R O, $600
TOE $1,000)BEEOF* $600
RO $500 |5t OHf $200
O $500[5R OFH $200
BROZE $1,000) B OJy $600
BOHE $1,000)ZFO & $600
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BEOR $50,000|FEORE $500
g O% $10,000{ =0 $400
£0%8 $10,000|EOFF $200
£ 0% $10,000[FR O 5 $200
=0 $10,000|ER O£ $200
BIOF% $100[EFOJE $200
2O $100[HOF $1,000
FOH $100|52O%% $3,000
AEOffE $100|= OF $500
FOA $100[&£O¥ $200
FOF $500| EEHEIE AR A E] $2,000
BROFE $100| =OF $100
FEOIH $100[5TO%E $100
SO $4.000{ =0+ $100
F O/ $1,000)22 O $100
BROGE $1,000( % O $100
=10 $200[#FH O $100
REGE TR $1,000) B O$Y $100
BT E BRI AR A E $25,000) #E O $100
BOE $1.000[z=O 1 $70,000
BHOE R $1,200{OF $1,000
FOH $5.000) 5 O A% $5,000
EOFHED $1,000|F O $200
FOE $1.200[=OfZ $2,000
TOEE $1,500) & O% $115
0 $700|EO%x $1,000
ROZE $700[FR O1& $1,000
TO&E $100[=O%+ $200
O $5.000[ =0+ $500
O $100[z=O= $2,000
RO $100| EORELD $2,000
O $100[H O $2,000
=0% T $100[F1O’th $200
A Of $500[B1OE $300
=OB $200[; L O $450
£ O $100[ZROE. $300
FOE $500PTOZEER $450
e OFfE $100[f O $500
T O $500 O $500
O $200[ & O 5% $100
RO T $200[ O E $100
=0% T $20,000| B O1E $100
210 $200Ji OF $100
£0% $500FR OF $150
FOuk $500/2£0O4 $200
£ZOK $500[F O $250
FROFE $300[ETOF $100
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HOWEE $100[7RO¥ $300
G OE $300[7ROEFH $300
MHOZ $300[ = Offg $300
#HO% $300[FROFE $500
BIOH $300F O %k $500
=OE $300[FROZE $100
FO=8$HT $500[/EOTE $100
thO=E $1,000|EE O $1,200
TO# $500[ 2 O $100
#FORMH $800[EHO $100
HOR $100] &= O (0 $200
w05 $100[E O $100
hO%Z $100,000)O%% $200
=OJTT $2,000) POt $100
w=OH $100[E=OL $100
FOF $100[B1OA $100
O [#D) $100[z= OKE $100
HROF $30,000|ERO# $1,000
FRORL $300[BROEH $200
PO $2,000) B Opke $200
[ O= $1.000{EOHE $150
RO $500[FRO%E $150
BOH: $3,000) B O $150
BOZEEFER $2,000]BR Ot $250
fifi OHR $2,200) B O F5 $200
£HOH $100[BRO e $200
O $500[5E O $200
PO $1,500|1 5 O%EL $200
£0% $1.200);E O $500
ZOHEE $1,200) i O $100
EZOl] $1,200]1 O=L $100
SEOmEL $1.200)4&2 O $100
AOAZ $1,200{50O %) $100
ROHE $3,000) % Of# $100
MO $5.000) % O $100
FOE $10,000| 8 O£k $100
SO# $100[FEOZ% $100
H=O/H $5.000) B O $100
BROAN $200[=O#h $100
IO $10,000[EPO fie $300
H O $10,000|EFO % $300
RO $10,000[5F O $100
FR OB $1.200[FOfZ $100
B OxE $5.000|#OF $100
B OH $5.000|EHO%E $100
FHOR $1,200|EHO#4 $100
sTORE $2.400] B OFK $100




MEEANSETRAIDFEHEENESE
OIFHMEE (TEEMR : BEFREARETL)

Bk ER SE
OB $2,000|BEOZ $100
O $100F O $100
FEOT $600[EB O $100
HOEF $600[BROH $100
£0% $10,000|B Ot $100
PROEJE $10,000|BR O $100
MO $50,000[FRO 2 $100
HOED $50,000|BROEE $100
(@i $100|fR Ot $100
= OME $100[BROLT $100
w=OE $100[ 52O $500
FOE $100 B O $200
= O $100[5=O= $1,000
EOE $100[5FOfL $100
#EO=A $100[ Ok $100
FHOFE $100[FIOf% $100
HE O $100[BROZ $100
SO $500[FFOHH $100
SROXE $100[#O%2 $100
OBE $1,000| EOE $300
s O $600[ 2 OFF $100
= O $600[2EOF5 $500
RO $600[{HO & $100
s ORE $600[FEORI $100
MOH $600[HO%H $100
BROH $600|5=OEF $600
BROR $600|5=OH $600
PROIE $600| =0+ $100
RO $600[57R O $1,000
PROE $600[FRO= $500
OB $600[7ROF% $200
BROA $1,200)&£OFK $1,200
BO% $100|PECOE $1,200
BO#H $100[401 O H ## $1,200
O $100| % Ot $1,000
20O $100[5O% $200
FOXRE $5.000[FEOFZ= $1,200
HO $5.000|ZO $1,200
HEOE $100[FROHB $200
=OIH $1,200| £ ORELED $200
O $10,800[EF Ok $300
=50 $1,200|ZBO$ $100
= O, $1,200|#5 Ol $100
HOE $1.200) 8 OF & $100
FHOHE $1,200[F O %% $500
BIOZR $200|f OFE $500
FOH $250[HOE $500




MEEANSETRAIDFEHEENESE
OIFHMEE (TEEMR : BEFREARETL)

Bk ER i L
H=OJTT $250[HOHk $100
ROM $250[BR Ot $2,000
FORL $250|FOFF $100
O $1.200(580 $100
BOfE $5,000[ O] $100
TOEE $100] = OF[ AR $300
TOE $100[E= Ok $1,000
AEO#K $1,000[f O $300
BEO $1,000)f O=L $300
EO%E $1,500[f Ok $300
FEOA $100[FRO $300
HOtE $1.000|1 Pk Opk $300
HOZE $2,000[FRO ¢ $300
KOG $1.000{2£O %k $100
sTOf $2.400| P OFH $10,000
BFOZE $500[ O $600
FOF $500|EFOZ $500
AO*% $2,000| 2254l 2 A TR E] $500
Z OB $600[FEEOE $5.000
O $600| 2O $2,000
FOME $600[FRO%E $100
FOfE $600[FROE $5,000
FOM $600|F O $100
= OTE $1.000[FR O $100
@) $5.000[HEOZ¢ $1,000
ORI $5.000)BEEOF* $100
MO $5.000)=x O $100
g OZM $5.000| B OfE $100
RO $5.000) BR O $100
O $10,000| £ O3 $100
=20 $5.000) B O£ $100
ZOBk $5.000|BEOt% $100
BOF $2,000|5FO%% $100
= OHT $1,200(PE O $100
BROMR $10,000[5FO=E $100
BROH $10,000|3F O e $100
SO $1,000[5FOF $100
2O $300|FFO== $500
ZOH $500[EB O $100
BROH $500[EFOf& $100
FROMIED $5,000[EFO%E $100
BROBH $100[E O $100
HOH $100[EFCO5 $100
EHOM $100|2£ O $100
wOZ $100t O $100
s OfE $100[ZF O $200
QiR $100[AROLK $200
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O $2,000|7ROZF $200
ROEEAE $100[HO= $2,000
ROF $100[ RO $1,000
RO $100)1#£ O $1,000
RO $100[BROAK $200
HORE $100|ZF O $1,000
@l $1,000[HOEE $200
RO $1.600[#50O & $12,000
¥ OFiri $5.000 B Ot $1,000
BOZ= $5.000) FH O%L $1,000
FOMELD $10,000|22O= $300
=OMF $1,200{5%2 O $300
BHO4E $1,200|BROJE $500
SLOME $500[= O $200
AEOE $500[EOH $200
AEOE $300[F O $200
EAOLEES $100[#5O%E $200
ZOR $100[ECO $200
BROIE $100[EEOE $1,200
fiti OF $100[5O= $100
BROE $150[fEH O $1,000
ZFOHE $250[ = O%> $3,000
FOT $100[#rO $1,000
RO $300[FHOHF $1,000
BOR $200[t5OFE $200
ROSHE $300[tOF $200
SOt $300[H=O=~ $200
RO $500[ EO*% $200
BROME $500| EOH $200
BROZE $100| EOJF $200
EOHE $100[ZFOE. $200
GO $100[HOZ $1,000
sHOH $100| EOAD $200
B O] (#0) $200[# O ) $200
HOHE $200[= O $200
AEO8% $200[HEOTE $200
RO® $200|3O $200
RO#E $300| O $200
RO $200|2I0F $1,000
POt $100| EO1H $1,000
E=OX $100| 52O $100
BIOH $100[=OFd $200
s O $100[=OH $200
H O $1,000[E= Of& $200
FOHk $150|E= Ot $200
PROZE $150] 5= O (#D) $200
BROZZ $150| =05+ $500
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BROH $250 | O $6,100
AEOFE $500[2O% $500
fi OIE $100| 5O $500
fitt O=L $100|= O $200
LO= $100[HAOF* $200
O $100[t5OFH $200
GO $100[#5 O $200
O $100[Z£O%#E $200
2OZ $100[FIOF $400
FOZ $100[5Z Ok $400
PROZ $100|LiO Su $500
s O $100[ER Ot $10,000
SO $300[FH Ol $500
FOHHE $300|2O % $1,000
s Offi $100[5R O $2.400
sTOfE $100[LOETE $10,000
BOT $100[#EOIE $100,000
EHOH $100[EHOTH $1,000
sHO $100[ OB $10,000
BROEK $200[#%O1k $10,000
RO $200 % O $10,000
RO $200| FOEE $3,000
@) $200[ P OZREL $100,000
BROH $200| =05+ $200
BROME $200[t5O %% $100
BROE $200[t5OFH $100
FROZ $200[t5OFH $100
BROE $200[2£ Ok $100
BROHH $200[FEEOXN $30,000
BROLT $200|Z£OHZL $200
RO $500[2£OF5 $200
FEO=EHD $600|=OH+F $30,000
HROZE $1,000{#%COF $2,000
sTORL $100|HFOF $100,000
PROZE $100[ZF O $1,000
2IO& $100] = O $1,000
BROZ $100[ZEOF $1,000
PO $100| O $10,000
O $100)5= O $10,000
FOE $300|FEOF $1,600
AHEOE $100|F O%k $1.000
O $100|FOJH $1,000
AEOH $100[EEOE $300,000
HROEF $600| &k O $500
=OH $600[/FEOHE $1,000
POHE $200[HO= $500
RO $200| EOFEE $200
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£ZO0/% $200[=O#h $500
£ZOH $200[3OF5 $500
FOZE $200 &k OF5 $200
FH O $200[=O%i $500
HOZR $200[ 2 ORd $100
O $200[FR O1E $2,000
A OFFI $200[5= O $35,000
OB $200[H£O# $100
BOFE $200[HEOFH $100
Z0= $200| PR OHF $100
ROZR $200[== Ol $100
FOiH $1,200) B O$#, $100
g O $1,000) B Opk $500
RO $600[ 5O $100
ZFOfR $250[HEOFK $100
EAOLN $250[ 5O $100
HBOTE $250[5RO4E $100
FO% $250|5£0 = $100
T OELED $200[5ROF $100
HOM $200|= O $100
L RRes AR E] $1.000[EO= $100
RO, $2,000[fROF5 $100
FEIESF $500,000{#£O & $100
£Z0O% $10,000|FOK $200
HOZ $1,000|HO $600
FROIH $1,000)1ZF Ol $600
2O $1.200|FOZ $600
PHOL $1,000[=OF $600
BROE $1,000|FOE. $600
BROME $1,000{% O $100
BROFE $1.00012 O $17,000
#OG $1,200|BHOH $600
S ORR (D $1,10012 OFL $100
i OW5 32 $80,000| 5 O $200
FOt&E $1,000|=0L0 $200
HORE $100[#FOF= $700
£0% $500| = OFES $700
BRO1E $500 TOR $600
O $1,000TORK $600
=0% T $100F ORP $600
BRO3 $500[z£O ¢ $300
FOx# $300[ RO $1,200
O $100[5=RO%k $600
FOX $1.000[ZF O $700
O $200[ RO $600
O $1.000{ 7 O%& $5,000
=(OLS $500[AROHE $700
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EOL $5.000[ £ O $200
SEOHE $100[EO B $200
HOEHE $1.000[z=OH1 $100
RO $1,000) B OF5 57 $500
HORE $10,000[ 2O $100
RO $1.000[FF O R $3,000
RO $1,000) 7= O%L $200
BOZ= $1,000pTOE $600
EORK $100TOTE $600
HOF $100[5 O $600
FOH $100[FOF& $500
BROH $100[FRO%G $300
ZOligg $100[ZO $500
BRO$ $100[FROF* $500
HOE $100[5OFHG $1,200
FHOK $100[FO= $3,000
AOR $100[Ji O % $1,200
RO $100f OF5 $1,000
ROE $100(Z8O $1,200
RO $100[FROFIL $300
AOFE $100[EEOLa $500.000
+O=E $100|2IOFEE $1,200
BROFT $100fifi OF5 5 $1,200
HO&E $100[5FOF $1,200
FOHE $5.000|BEOET $10,000
BROZE $3,000)EO%E $1,200
BOZ= $500|FOFk $1,200
RO $3,000{ £ OFE $600
MO $1.000[Z£O= $300
=0O% T $100[FRO#E $1,200
=0 $500[ RO $300
BOE $12,000| RO $300
£Z0H $500[ 5 OFEH $1,200
£0H $1,250)F O $1,200
BROTK $1.250OR $70,000
£01E $1.250OR $100,000
ZOHE $1.250[z=0O%F $1,200
BIORL $1,000|1220%5 $1,200
BIOkE $1,000) B O Hat $1,200
BOFE $1,000{4COF $1,200
HO=E $100[E=OH $500
FO $500[= O $500
EOZE $500[z= O#F $500
BROAE $500|2£ O $1,200
EOIE $100|BROE $1,200
FOFH $200[&£ O $1,200
F O $500[FFOHE $1,200
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£OH, $100[HEOFz $1,000
RO $1,000) B O $6,000
O $1,000{ER O=F $10,000
FOEB $500[FE O $2,000
HO4 $400 (R O A $10,000
£20) $1,000{¥OE $8,000
O $1,000) O $2,000
ZIO $20,000{E=O= $1,000
ROH $1,000{#AOE $2,500
FORE $2,000# O $2,500
SLOMHE $3,000]#H O $3.000
2IOH $100|2OFE $10,000
2IOE $100)’TO%Z $10,000
BOHE $10,000[ZF Ok $10,000
TSy $10,000[FRO=E $3,000
BHOH $600| EOF $5.000
BROB $1.200{ZFOfH $1,200
EOE $1,200| [E] 1Lt 75 $50,000
Ok $1,200[FR O 75 $1,000
AEOZE $1,200) B O $1,200
BROFT $8,000[FROEE $600
BROBL $1.200[2£0 $600
=0% T $2,000)5O $1,200
#FO4 $3,000[tO%% $600
O $5,000{ ROk $600
O $1,200| = OH $1,200
SEORF $100[FEEOF $10,000
BROZ $500|45O 2 $200
HEORE $1,000| = O= $200
BIOHH $300[EROZK $200
FOK $300[7RO# $200
B0 $300[E=OME $200
ZFOHiy $300[=OF% $200
FOE $300[7R OB $200
JBOE $200| RO $200
ROZE $200] = OFE % $200
AROTH $200[#FO%j $200
KO& $200[#OF= $200
RO $200[FHO=E $200
F O 1% $600[FHOBE $200
LOHE $100[t5 O $200
JLOER $100[#AO e $200
=OF $400[FH O $200
FOfE $500[FHOth $200
RO $200[FH O $200
RORE $200[FH OH:FF $200
O£ $300[FH O $200
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=0 $1,200) 17 O& $700
SO¥E $300| = O $200
S LOR $2,000[=O# $200
PR OBD $400[FEOR $200
ZOR% $200( P OFk $1,200
ROFE $300[FR O $1,200
ROk $100[#£O=H $1,200
O $300[#40O $1,200
HOFF $400(| 21O $1,200
HEO®F $1,000|FEO H $600
O $100[EOME $1,200
O $300[FRO $200
GO $100[ = OF $200
§E Ok $300[ &= OB $200
RO $300| &= O $200
RO GE $200[21OF* $200
RO $400] = OfF $200
sROBE $400{4OFE $200
TOE $1,000( OBk $200
O $100]| = OF] $200
HOFELE $3.000[#5OF $200
PROZ $400[ T O $5,000
HOH $3004£0 $2,000
HOE $300[220O3ZL $5,000
HOFE $3,000{Z=OHK $5,000
EHOES $3,000TOE] $200
£0O% $10,000/ KO H $2,000
TO $500[ 2 OJE $1,000
O $3,000[ 2O $100
O $2,000[fEOF5 $100
EOK $500|BEOES $100
PR OAK $200|F OF $100
%205 $1,200|fO=E $100
2O $300 | R IEAR $16,786
HOE $100| £ $16,786
EOHAL $1,200{ EOE $2,000
BEOH $1.200[ EOFF $1,000
= OF $200[ZIOF $100
EO/ $200 | Ol $1,000
HOE $200[BIOFER $100
BOE $200[2IOf= $100
#O $200[ZIOFED $100
2208k $1,200| 21O $100
EO+ $1,200([2[OE $100
1B ORE $200[ZEOA $100
BOE $200[21O}E $100
EJOED $100[FEOH $100
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FO% $100[FEOfZ $100
O $100[BROHE $5,000
O $100| 5 Ot& $1,200
ZOR $100|fkOF $2,000
fEO/M $1,100| =05 $100
B Ok $1,100)1210 $600
FO= $100[fT O $900
£0 $200[;LO% $1,200
ZO% $200[£5O7 $3,200
ZO% $200[ EOFF $500
FOM $200[2OH $1,000
HOE $200)75+8 £250 $3,000
ZOR $200)7% -5 $200,000
FHOFE $200[FH OFx $300
ZOf% $200[Ek O 7 $300
HO%E $200[2£O%) $1,200
HO $200 |5 O $220
FORE $200 i O T A% $300
O $200 [ fifi OF5 (#0) $300
#O $200[7&O $200
EAOL $200[=OF $5,000
FO%# $200[Ex O EERIZ $300
FO& $200| PO $1,000
EOAD $100|#RO~F5= $1,000
MHOBEHED $100|ZF O3 $300
O $100|BIOH $400
HOE $100|E1OE, $300
HO $100[#O1E $300
O $100[#5 OB $300
BOE $300[FO% $300
EOMH $1,000{&6O 5 $300
s O $100|&F O L& $300
=OH $100 &k OHf $300
wOfE $100[fAI O PR $500
s O $100[7RO1E $200
OB $100|BROBH $100
EEOM $600[7ROH $100
BROF $600[= Ol $100
PO $1,000|E=OZ& $100
O $1,500|= O $100
ZF Ot $1.000[z= Otk $100
s Ok $4.000) & OFE $200
fitt O $1.000{ 5O $200
w08 $100[FOE $500
FO%E $100[#O 5 $2,000
BOZEEFER $2,000|ZF 0% $300
2O $200[= O $100
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MO $200[ZEOf# $2,500
HOJE $500[BRORK $2,500
21O $500|122O1E $2,500
BIO=F $500[Z£OF $2,500
O | $300[ = O $3,000
FOHE $300[fROF $200
tROZE $600|E= O $500
g Ofifa $600)| £ O% $500
BROZ $1,000) B O3 $200
RO $300]:% O F e $200
BRO 2 $1.500|#ROE $30,000
BIO% $500f O=Z $300
=0 $15,000|F OJ= $300
MO $700[ER O $300
ROFE $600[fOE $300
O $2,000) &= Ot $500
PROEZE $10,000{Z£O%: $500
BO $1,000) = Ok $500
s O $2,000[Z£EOAK $500
=0% T $500[m O & $1,000
BROZE $500[EROfEAE $100
FOK $7.000|tROF $100
HOH $100|ER O $100
21040 $800[ER O $100
RO $100,000{#4O%F $100
BOZ $200[fROF53E $300
TOFHE $200|# O $100
HOME $1.000|ZBO$ $100
BEORZ $1.000[F=OH $500
BROJE $500[5R O3 $1,000
PROT $200|E= O $500
BROF $500[ZFO HER $200
s O $2,000{BROHE $500
PROE $100|2 O $1,000
PROYELE $100[EH Ok $2,000
BROH $100[FROHE $500
RO& $1,000[{TOHHRTZE $200
FOHRBH $200[H O $1,000
HOE $2,000)BE Ot $1,500
BIOZKEE $100[#H O $300
RO $100[#HOFH $300
=0 $500[FH O+ $300
MO $1,000|FHOH $300
e O $12,000[FRO%E $200
BROZ. $600| 2 OF5 $100
BROEE $600[t5OZ= $200
£0 $600[ 5O $200
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OB $600[g1 Ot $100
BO= $600[F O $100
PMOTR $600[ AR OMhRAE $1,700
BROF $100|ZFOBF $400
PO $100|120O4 $1,000
EOWM $100| O3 $400
EOTE $100[= 0% $400
O $1,200|tROBH $2,500
O $1,200[FR Oz $2,500
HOTT $100[t5 O $1,200
BROBE $100[FH OB $2,000
BRO HEE $600[#F O $25,000
FROE $100[FEOW $12,500
FO%= $100[EEO% $12,500
BROA b $1,200)¥ OB $12,500
EOH $600[FEEO i $12,500
MHOE $900[FH O $10,000
BROBT $200[FH O58 $10,000
PROME $9,000| FEAH=F $10,000
FOR $300p TOHE $1,200
BROBGE $1,000|F OB $10,000
HOE $500|FEOIE $10,000
PROJE $200[EFHETE T $200,000
EROZE $100|FESE & $30,000
RO $100[#FOZK $700
E O $4,000{AO 5% $700
BROF T $20,000{ RO =5 $700
21O0% $1.000[AROFE $700
HO® $900[FE O $700
HOZ $500[ O $1,000
MO $1,000[ & O $10,000
FROH $1.000)22 O gk $1,000
TOF $1.000[=O™ $2,000
BROES $2,500 | ¥ ikt $1,200
BROPAT $2,500|= 0O+ $3,000
s O $600[FIOH $10,000
BOH $600[BBO - $3,000
B OX $600[ = OF% $100
fit Oz $10,000{BRO#F $100
O3 $10,000) B O$#, $100
=OHS $10,100|1 FO= $100
HOIR $300|f OF5 $100
#FOZE $300[EO B $200
HO $300[=OH1 $100
HOMR $100[=OE $100
#Ola $100[2OF $100
O $100[#FH O $100
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ZOE $100|E=O= $100
EOM $100)=0 $1,000
HOE $400FEO$# $500
BOIE $400[REOTT $500
1O $1.200[3H O $1,000
O $400[ROF $45,000
FO%E $300HO= $200
O $300| 2O $500
RO F A $300|BHOF $500
EROM $300|E= Ot $100
HFOT $1.200{22O % $200
HOB $1.200(#RO5 $200
FOE $1.200{ZIOk $200
RO $1.200[#EO = $100
BHOZ $1,200|= 0O $500
fil OB $100[OEH $1,000
=OJR $100|FR O $600
=OME $100| P OFEdls $600
O $100|BOHE $600
O $100[=O%H 1 $500
=0 $100|ZF Ok $1,000
2O $100TOE S5 $500
PROZE $100|2OFE $500
= OF $100|ZF O $1,000
=016 $100|=OH $2,000
=01 $100|z 02 $2,000
O $1.200[E OB $2,000
#=OTE $300|BHOE $1,000
SON $300| &k OFE $5,000
FOZ $1,000[ O $500
210%& $1,000| 8 OBFHE $100
pl Ok $500|HOE $100
HROFH $2,000{FEOTE $100
HROZF $2,000 O $100
HROZ $1,000{PEOF $1,000
=0 $500| EOZ#E $400
EO4 $500| FOHE $200
BO& $1.200|BR O $150
O $200|F O $500
#rOAL $5,000{EFOFETF $30,000
ORIk $1,000|EOfZ $20,000
TROBEE $1.200[FFOF $100
FORE $1,000|5£O*% $300
#;OZ $1,000{5= Ot $300
MHOZE $1,000{5£OZ& $1,000
PROZE $3,000|FROFE $500
g OFd $250| P O# $500
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O $62|FRO R $100
gO& $64 [/ EO1&E $200
2OZ $62|8 O% $100
g OHEER $62[EHOTT $100
ZOH $500] &= O (0 $200
ZOM $100[#F O $500
TOFE $200[E O $200
HOFE $1.200)E O $200
O $1,200{ PO $100
BOZE $1,200)E 0O $100
OB $1.200{Z1OF $100
PROE $200|E=ORE $100
BROHE $500[EF O $2,000
LO $750[F O $1,000
ALONEE $750[ EOHK $150
BOTE $1,000) B O % $150
(@ $1,000)BE O $150
BROZ $1,000]BE Ot $500
& O $25[H O $500
MO $25 MO 1 $100
TOH $500[HEOL $100
RO & $300,000{4CO%F $100
RO $300|58O % $100
ROZ $10,000] & O $100
s O $300[ OB $100
HOM $10,000| 8 OF $100
ORI $30,000|F=OZ% $100
w=0OfE $2,000)B O $100
s O $2,000) & O%#, $100
s O $2,000|E O $300
O % $20.,000|EFO % $300
HOZE $1.000[FFOfif $100
£Z0OH $100[ETOfE $100
O $2,000|#OF $100
PORK $500[EH O $100
BROFE $500[FAO #h $100
£0%= $300[BROFK $200
BO% $100[FROZ $200
BO# $100|F O $200
BO#H $100[EB O $200
£Z0Om $100[BROH $200
TORERD $2,000|EEOt& $200
OB $300FR OF $200
ROEE $300[FROZ $200
s O $1,200[FROE $200
EO& $1,200|BROfiEE $200
BROF $1,200]BRO4F $200
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PO $1,200| 52O $500
ROEEAE $100[#F OBk $1,000
ROF $100|FR O $200
RO $100|7EO%E $1,000
RO $100[5TORL $100
#HOEE $100[#F O $100
E O] $100[FIOf% $100
MO $100[BROZ $100
#HO% $100[FFOHH $100
2OH $100[#O%2 $100
=OE $100|EH O fi $500
BOF $2,000{EOZF $500
20O $150[ FO% $500
£OWE $150[FOHE $100
st OE $10,000HO & $100
AL $10,000|F= O $100
HOE $10,000):HOH $100
PROEE $10,000[ 7R O%¥ $600
#®OF5 $10,000[5£O H $600
PRO= $10,000| =0+ $200
RO $300,000| =05+ $100
AROIFEEHD $300,000[# O $1,000
s O% $300[5OZ%& $200
FO¥RE $300[BBOH $300
FO#E $200| % Ot $1,000
O $300[ & OB $250
F O $300] & O $250
FOE $300[sEOM $200
FHOE $300|FOff $250
O $2,000|FOH1 $250
BO& $1,000| % OAFE $250
EEHE $13,001|FO% $250
FERE $13,002|H OBkt $1,200
S $130,033] EORLEHD $200
eI = $130,034[FR Oz $3,000
FEH $1.736|[FEOLK $600
Jit €7 % $1,736| Ol $100
RELE $1.736| B OF & $100
REE $1.736|FEOIH $100
e $1,736|BROHE $500
e ANSIH! $32,750(FR O 1 $250
w=OK $500| AR O $250
FRORL $300| EOEE $200
ErOFERA $1,000{FEO#2 $100
Ok $200[ O Hk $100
w= Ol $200[FH OB $1,000
BIOF $900[FR OH $600
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RO $500(Z8OF5 $100
O $500[FO $100
s O $500[ZBOF( $100
OB $500[EH O $500
EOX $500|EHO = $500
JO%E $5,000| FO% $500
RO $300[ FO1E $500
FO5E $1.000[FROA= $300
PO $2,000|tROE $250
KRORL $500[/HO & $5,000
RORX $500[5OF $1,000
ROH] $500| O $2,000
KOE $3.000[Z£ O $300
FOH $3,000) 5= OBk $10,000
EOf $500[ZFOFE $250
HOE $500[ZF Ol $250
HOZELE $500[FO%¥ $250
RO $2.000[2£OF% $2,200
BOE $2,000| 2254l 2 A TR E] $1,000
B OH B $1,000|fEMt x fb =5 $2,000
RO $1,000{#7OJEL $20,000
#FOTE $1,000| FOFEE $2,000
EOEE $10,000[EO}E $2,000
thRO= $1.000{BBOF4R D $1,000
HEHEEAIRAE] $1,000{BBO LD $10,000
BOR $200[BR O $300
BROZK $200[BROAI $300
RO $200[ = O $10,000
g OFE $1.600|EHOFE $10,000
MHO% $200[/F#EEESE $650
BOFE $200| F A GENTE & H 1 $20,000
HOFE $200[ZFO1= $200
H OBE $200[£5OFE $200
BOE $200[FO= $1,000
PO $200[=Of2 $2,000
H O $200[= Ofi% $2,000
A Ot $200|122OF $500
HOF $200[)ZO%z $1,000
O ST $200fR O1& $1.000
O $200| =0+ $100
=0 $200|E=OF $2,000
FORE $200{ = OREHS $2,000
O $600|fH O $1,000
E QR $100[FH O/ $2,000
= Off $1,100FEORE $500
AOTE $200[FOHF $1,000
EORL $200| 2O $3,000
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= OF $200[ 5 O $200
BOE $200[2IOF $1,000
BO4E $5,000( RO $1,000
HOTE $10,000) O $1,000
HEO $10,000]| £ O $1,000
O $5.000|1tROH $1,000
SR EEEEE $600,000|FOEZE /i $3.000
HOE $500[f O’ $1,000
HOFRE $1,000]BR Ot $2,000
BIOH $1,000|FEOFE $500
P OO $1.700[FORd $100
T O $100[ZROE. $300
O $100) 5= O $1,400
FOH $1,000|EHOHE $1,200
BOEXH $1,000)BEEOF* $1.400
HO4F $5.000)BECOBH $1.400
s OFP $200[ZFOf $5,000
ROt $2,000) 75 Ok $500
RO H $10,000/ZROFL $500
BROF5 5 $500[fOE $500
HOH $200[#AO H $500
HOE $1,000|z= Ol $10,000
BO®E $500[E= O $1,200
O $10,000[ EO#= $300
MOE $10,000[FO $1,000
SO $100| £ O $500
EHOES $1.200{ZF 0% $1,200
i Ok $1,200| EOH $300
AEONE $500[BEOL $1,200
#FORBZR $800[F Ot $200
FIORK $500[HOZE $600
HOE $500[#FOF $1,000
(@i $100|22OZk $600
wOME $100[EEOHkL $1,000
w=OH $100[EOF $600
O $100[5OEAE $5,000
= O $100[ P OFRTT $10,000
EOE $100[ZEO%F $200
FEO&A $100[AEOTTA $10,000
FEOF L $100[#EO 2L $250
FE O $100[sE O $250
HOE $100[BROH $1,000
=0% T $500[ETOH $100
RO $200| = OF $1,000
#OAN $1,000|fEAtn fib =5 $20,000
sOE $10,000) f O $1,000
O $10,000] Fs Ok $300
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BEO= $500|E= 0O+ $2,000
EORK $600[E=OfZ $2,000
HOHEHG $10,000[=Ol5 $2,000
PROK $10,000{ 52O $100
MOLE $10,000|&r O $300
ORI $20,000| & O&X $200
FEOE $10,000|EB O $100
FO%H $1,000|1ZOt& $100
T OZ $1.000{EFO = $100
Z Ok $600[E O $100
[ES il e dsil $100[EFO5 $100
TO#HE $200/2£ O $100
w16 $200| EOFEE $200
BROH $5.000[z=0O# $2,000
PrOZK $600[E=O= $2,000
ESOL $200/f OF= $500
O $600|t7OE $12,000
ROE $3,000[ 1 O $100
MHOEAE $200[t5O%E $650
EOiE $1,200pTOE $650
BROER $600| EORELD $2,000
it O $2,000)FHOJI $2,000
BROTE $200[HOZ $1,000
TO&E $100[&x OF5 $200
O $100| kO $10,000
s O $5.000) PO $500
EORK $100[FEOHk $300
=0% T $100[ = OF $250
£ZOH $100[#F O $250
TOE $200[FO 2 $500
TOH $200|f OFE $500
O $200[;EO 5 $200
+O-] $600) 5= O $1,000
MOZ $600[ERO= $1,000
MHOEE $600[t7OH $700
PO $600[ =0+ $10,000
PO $600[z204 $300
£ZOE, $1,200[FROZF $600
FOE2 $200|HEOH $1,000
ZOR, $200[EHCOJE $5,000
PO $200)Z O $100
£ 0% $200[m= O $100
MHOE $200[{T O $500
PO $200 O $100
PHOLT $200[ZF O $100
FOH $200(fR O $1,100
MOE $200[FROF $1,100
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HO1E $200[fROZF $1,100
ZOE $200[BRO= $300
MHO%E $200[5F O $5,000
£0% $200[ O $2,000
Z2OPE $200| =0+ $500
O $200 | OF5 5t $500
HOZK $200|#7ONE $500
RO $200[#5OFIH $500
BEOL $200[# O $500
O L $200|EEO 21 $300
BROLL $200[ZF O $300
RO 3 $200|BEOEE $1,200
BROE $200|== Ol $100
RO $200|E=Ofk $500
BHOZE $200[=OJF $100
BHORZ $200| 5= O $100
2208 $200|E= O $100
BOH $200[=O $100
BOE $200|E=O%& $100
BOHE $200[F O $100
BOH $200[FROE $100
BO# $200[=OFH $100
O i $200[= O $100
FOE $200[=O1E $100
PROZE $200[ = O $100
FOF $200[#£0% $1,200
PROSL $200[ZEOZK $500
PROME $200[2£O% $500
BROFT $200[= 0’5 $1,186
MO $200[ PO $88
RO $600[FEOH $89
ROk $600|#& Ol $100,000
O $600[fROZ# $1.500
HPO&A $600[BIOF $100
FOMH $200[2£O%#E $1,500
FOMH $600|FH O $100
RO $1,200{ZZOfF: $100
ROE $1,200)BR O $100
HOE $100[2O%5 $100
FORE $500] = O $100
BO& $50,000[EX O%H $100
£Z0O= $200| = O54 $100
s O $1,200[FIOFEx $100
Ok $1,200|121OJ= $100
HOZ $1.200[Z1OFE O $100
=0%F $50,000| 21O $100
MO $200[F1O & $100
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BAOH $200[H= O/ $100
O $7,200{ 21O $100
O $200|FEOH $100
FOit $200[FEOfZ $100
MOE $1,000) & O $200
HOE $1,000|1220% $100
BROAE $50,000|8k O % $100
BXOTKE $10,000| B O $100
FHOWE $10,000[BROZ= $100
Ok $10,000| B O w51 $100
OB $10,000| EOH $200
OB, $10,000[F O $30,000
210 $10,000[BRO T $6,000
HOE $5.000) ¥ O $10,000
H=O $1,000[EEOEF (0 $10,000
BROT $600| =05+ $20,000
O $100|FO== $25,000
EO% $100)1=0 $25,000
1@ $2,000|1E&5F $200,000
SOB $2,000|#H Ot $5,000
SOM $2,000| &= O $500
S Ofi $2,000|H O $1,700
FOfE $2,000{= O $500
RO $2,000{FFOH $1,200
FOR, $100[#F O $1,200
=OA $100)=0 $1,000
EHOE $100[EEOE $2,000
EOE $100[FEO54 $10,000
O $100[=OE $50,000
FO=E $1.550[ZF Ot $1,000
RO $1.550/ NOFF $1,500
RO=E $1,900|HOf= $50,000
=OETF $2,000/TOZE $50,000
=OFR $10,000|&F O BRI 52 $800
O $2.000[#£O $1,000
=HOX $2,000{ZF O $1,000
s OF $2,000|F O $300
= Ok $2,000)50O & $500
O $1,000|E= O $200
BROZR $1,250|BEOBH $100
#HO $1.250| 0O = $100
AEO (i $1.250[=Odn $100
O $1.250[F=0OZ# $100
SO%F $1,600|=OFE $100
AEOF5 $1,600( = Oiflfh $100
FOHE $1.800|BROJ&E $500
LOZ $2,300] &= O $200
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S OAEE $1.200[5O= $100
FEOH $500[BO%x $200
£20) $10,000| kO $1,000
s OENFED $5.000 O $10,000
O $10,000{O%i $500
=0 $1.200{ 5O $100
FOE $500| EO= $200
FOR $500[FEOIEZE A $3,000
sTOFx $600[FEO& $1,000
H OLL $600| 2O $1,000
AOFE $10,000)f O 4 $500
MO $10,000| 52O % $500
RO $600[7ROF% $200
ST $300,000[i=O8% $1,000
PR S $200[=O= $1,000
tEA S $200( 5 OfH $1,000
BRFHD $200[2£OR% $2,000
BRAESE $200[FH O $1,000
BOZE $1,000|tR Ok $1,000
O $100[#O%d $520
HOIEY $1,000[FEO 75 $5.000
O $5.000| O $1,500
FO8 $200[#5 O K $500
O $1,000{#OHM $500
RO $100[# O $500
F Ot $300[#5OfH $500
#O1E $100[ & Ok $1,000
RO $100[BBOTE $300
T OMR $500[#EO A $3,000
=OE $200|{=OEEER $10,000
PROF = $1,000({ O $100
FOBE $500[#hE=5F $30,000
#O $1,000| ‘& A AR E] $3,000
£Z05%8 $200[#F O $300
PROF $200[#EO=F $1,000
s OJI $2,000[ARO £ $3,000
BIOZR $200[ = OF% $100
e OFfE $100[z=OH1 $100
FOH $250[=OH $100
H=OJTT $250| R OF $100
ROM $250[#% O $1,200
FORL $250| PR O%F $4,000
BEOfF $1.000)BE OB $200
BROAT $100[#FOHd $600
FOFE $100[#FOHd $600
O $200[5O= $3,000
HOE] $3,000]#EO% $4,000
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FEOF5 B $200| RO EAE $200
EOH $500[BROTF $200
O $200|E= O $1,200
RO T $200[O= $1,200
PO $500[£1O $600
RO $200|122 0% $300
NSOl $530[ EO= $300
204 $500F O%k $300
ZOuk $500[FOEL $300
£ZOK $500[ZF O, $300
AOH $500[ PR O $200
BROFE $300[2£O% $200
H OIEIE $100[#FOF $200
EXOE $1,000{#ACOHi $200
FORK $1,000{#EOF7 $200
FOK $2,000)47O H $200
A OFS $1,015[FFOfE $200
s T OB $2,000{#4O 1 $200
MOFE T $1,000[Z£O& $200
BROFESE $1,200{HAO %k $200
O $5.000|2£ O $200
=0 $1,000|Z£ O $200
T Ol $200[3O4= $200
Ok $3,000[EO K $200
w3 $1.000|88 O $200
FHOM $300]EEOE $200
I OHE $2,000[EEOFE $200
B R A RN E] $5.000|BEOZ $200
T£OE $100[EEOFZ $200
=0% T $100|22 OB $100
RIEERELRVE T 24 $1,000|1# O $100
RIEERELRVE T 2 $3.000|#0O % $100
RIEERELRHVE R 24 $7.000[#5 O $100
DB RIEX B2 $3,000|#5OH $100
LA BT $2,000|18OF $100
FO $100[5& O $100
EO&F $100[52O%E $200
BIOH $100[BROE $200
#FOF $1.000{5OF $200
BIOF $100|2IOJF $5,000
BrO= $4,000)BEO=L $200
BIOFEH $100|FR Ok $200
2OJ= $100[FROF5 $200
BIOEED $100{#FO%% $200
B0k $100[#5 O $1,200
ZIOE $100[FR OfZ $200
FEOM $100[ET O $900
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BIOHE $100[2£O= $200
FOfg $1.200|1E O $200
O $1.200| RO $48,000
FO $100[FEOfE $200
FEOE $100[FOE $200
BEOH $1,000{#A0O 5 $300
BEO $4,000{#AO T 5 $300
O™ $100[7& O $600
SO $100[ 2 O% $600
ROE $100[FFOR $900
ROFk $100|FEOEL $1,200
PO $3.000)49 O H #k $1,200
PEEFEAIRAE $30,000[5R O $10,000
FROBL $200[HEO 15 $100
FROH $100[=O#h $500
HOH $100[m= O $500
EHOM $100[#OHd $200
wOZ $100[ = OFF $100
s OFE $100[HOB $200
EAO)E] $100[#FOF5{F $1,200
EROES $10,000|1#%50O4 $300
O $10,000)4EOZk $1,200
HOF $100[HEO & $1,200
FOH $100[ 4 OF R $1,200
£OFE $100[HEOH $1,200
HOEK $100[HEOFEE $1,200
AOR $100[FOF $1,200
TROHE $100[AO=E $1,200
ROS $100[FEO = $1,200
RO $100[BR O $1,200
HO%E $100[HEOF $1,200
HO#&H $100[ RO $200
£HOH $10,000) 5= O $500
HOR $500|E=OI=] $1,200
BOMGED $2,000{HOHEZ $1,200
fiti O $1.000[FROZK $1,200
FORE $1001 2O $1,200
BROTE $500| = O $1,200
=0 $500[EF O $1,200
=0% T $1,000|E O $1,200
=0% T $100[BROB $1,200
SO $500|f OF5 Bk $1,200
BEOE $12,000[FEHO= $1,200
BRO3 $500| E£OL $300
MHOZ= $500| £ OFZ $300
SBOE $200/f OF= $500
RO $2001E=OF $1,200
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AROTH $200[E=OFE $1,200
KO& $200[{E=O= $1,200
RO $200[5= O $200
BEORZ $1,000)22OF% $200
£0% $300|22 OB $200
=OHE $300[FBOZE $200
BROTE $1,200|ZB O $200
PROZESE $1,200(# OF% $200
PO $2,000|BHO%E $200
BEOM $1,000|FH O FEH] $200
S OL/NDK) $200[#l O $200
FOR $200[#OF= $200
HBOE $100|Z0O= $200
=(OLs $500[F Ok $500
BROR $500[z= O $500
HOEH $1.000|#OFH $1,000
tROH $1.000[ZFOFK $1,000
EOfH $300|22O% $200
FO $500[2 Ozt $500
O $500/2£ O $500
BROAE $500[Z= O $500
FEOIH $100[#O & $10,000
BEO $500[FOF= $10,000
HOE $500[H O $400
IO $100[=OF $5,000
EOX $100[EOHE $100
O $1,000| =O %+ $100
Z O $500[fAI O Pk $500
SO $500[HEOEE $200
ROBL $500[7=O1a $200
RORE $2,000|1O % $100
=@l $30,000|1O % $100
HOHE $10,000|18OF $100
HOZ $1,200|1 8 OF $100
PO $500[#OFH $100
BEO $1,200|8OF $100
HOH $1.200|2£O %% $100
EXO%F $1.200|2£O %% $100
FEOFE $1.200|18O% $1,000
FEOFE $1,200|F O $500
HOH: $1.200[fE O $1,000
SOt $1,200) &= OXtE $100
MO¥E $1,200)| EOF7 kst $500
2OE=E $1.200[FEO== $200
210 $1.200{ EO*% $200
A O $1,200)| EO# $200
O $1,200| EOJE $200




MEEANSETRAIDFEHEENESE
OIFHMEE (TEEMR : BEFREARETL)

it i E S X it i L
BIO% $1,200|F O $200
= OB $1.200{ EO£E®HD $200
SO $1,200[ O ) $200
HOE $1,200|= O $200
= OH $1.200[3EO%E $200
O $1.200[3£0 $200
OB $1,200|HO $200
w1 O $1,200[#HOE $100
BOZEE $1.200[z=0OF $500
i OFF T $1,200{ FO%i $500
F0O2 $1,200) & O3 $200
O $1,200)7#% O Tt $200
fr] O $1.200)B OJ= $300
FOE $1.200[E O $300
BROII $1.200|f O $300
i OF7 $1,200{5Z Ok $10,000
EOX $1,200) &= Ot $500
PO $1.200|2£0% $500
EXOFE $1.200{ZFOHk $500
sHOAE $1.200[Z£EOK $500
#OH $5.000) &= O $200
HOTE $600[=OH $200
ROBY $100[m=Of& $200
TOZ $100[E= O $200
RO $100/5= O (#D) $200
RORE $600| EOHE $1,000
mOBE $1.200)fOF = $300
B O%E $1,200[#H OFF4F $100
O $1,200|E=0OH $500
F O $1.200{#%COF $2,000
w=O®% $1,200) &= Ok $500
g O% $1.200[FR OB $250
RO $1.200| AR O $250
RO $1,200| 5 O%tE $1,000
0L $1,200{FR O $2,000
BROYE $1,200[# O $200
BROB $3.600| 52 OFF $100
B0 $1.200{ 5= OFE@HO $20,000
=0 $1.200 AR O R4 $1,600
BROZ $1.200{FR O $1,000
BROLL $1,200)5=O%K $10,000
=OT $1,200|5E=OUH $10,000
sHOE $1,200{5R OB $10,000
A QT $1.200[HEO 5 $2,000
T O $1.200|EO(E $10,000
sTOR $1.200[EXO $1,700
g O $1.200[EO*f#k $60,000
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Ok $1.200{5FR O $1,000
ZO= $1,200[H O $2,000
BRO $1.200[7ROZE $1,200
FOZ $1,200| FE(h=F $10,000
HOE $1,200| ZHH= $10,000
BOMKE $1,200|BEO%P $5,000
FORL $1,200[#£O#9 $200
TOZ $1,200)3OF $200
=0t $1.200 (PR O#F $100
HOTE $1,200(Z=Oligg $100
RO $1,200) B O$#, $100
=OHH $1,200[A O $200
BIO% $1,200)3OFK $200
FEORE $1.200[=OAR $200
HOF $1,200) 7RO $200
RO $1,200[5RO 5. $200
ROZE $1,200)5ROF $200
PROZE $1,2001A O $200
HO# $1,200| EO= $100
O $1,200[FROF5 $100
s OHk $1.200|1 PO $200
O $1,200( % O[El $400
BORE $1.200|1#EO = $400
BROZE $1,200| 2O $400
BROBE $1,200{Z2IO H $400
BROE $1,200|&=O%E $400
RO $1,200) 52 O $10,000
O $1,000|12FO1= $200
O $1.000|FO& $1,000
EOX $1,000{FE O $500
ZF Ot $1,000)E=O/K $500
BROH $500[FH Ot $500
BRO $1,000) &£ OBt $300
O $1,200|EO%z $1,000
HOE $1,200{FE Ot $2,000
BT 7 P SI/KER T $1,200|E Ok $500
MHOZ $1.000FOH $1,000
BROE $120 |5 Ot $500
OB $1,000[FROF $500
s O $700(21ORBk $1,000
e O $700[FIOHE $1,000
w0 $700|2IOF= $1,000
EOERE $1,200(FBEOAN $100
FROEE $1.200[z=0O% $200
BOFE $600[EROfEAE $100
§TOH $600[FROF* $100
sTOM $800[ER O $100




MEEANSETRAIDFEHEENESE
OIFHMEE (TEEMR : BEFREARETL)

Gl THE 3 Gl T
Ok $2,000|#ROF $100
HOZ $1,200| % OR¥ $100
OB $2.000|FEOE% R $3,200
=O%T $2,000] O %E $500
#OR $2,000|BEOTE $500
1HO% $100|REONIE $100
1HOH $100[#R O $1,000
BHO#H] $100| O $200
20Ok $100[FRO# $100
O $100|# Ok $1,500
1BOE $2,000| O $100
FO% $1.200|F# O $1,000
SO $100|FOE $1,000
RO $100[HOJE, $5,000
PR O $100[EO%E $100
FOE $100[z=OF $100
5 O5A $5,000[# O $100
Jii O ED $5,000[ZO%H $100
NEE R IR E AR 2 $73.915[fFHOHE $120
NEE R IR E AR 2 $3,000| 52O $100
BEOE $60,000{HOE $100
FOM $S00|{HO%E $100
#O01 $3,000| [ O f $1,000
FOE $1,000| & OFi $500
#OK $500|#EOBE $500
5O $50,000{Z O $20,000
TO%E $50,000|E2O 5= $200,000
EO# $1,000[ZPOE $1,000
=0%+ $500[FE & K52 $100
FO% $300[45O & $12,000
PROE $500[FROF $200
FO%i $25,000P TOT £ $100
EOTT $25,000TOF $100
RO $25,000| 21Ok $200
FOBk $25,000{#:OH $1,000
ZIOKk $4,000/{s OBHRI 5 $200
O $300[EL Ot $500
=O& $100|EPO AEHE $500
RO $100| F=FEE T ey $1,500
EOH $500| EOFkE $200
PROBA $1,000{ 7 Ok $300
BOESER $3,000| =0 % F $500
PR O $500|EF OF $100
MmO $10,000| 21O % $100
2:0% $10,000/ & O $500
O $10,000(#7O 2 & $1,200
RO $10,000|3F O $1,200
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O $10,000[8 O $100
EOR! $10,000({HO = $10,000
BOZEHE $10,000[E O 4 $10,000
SO $300|FRO#k $300
BrORE $300(2£0F $500
a0 $500|1#£O $1,000
RO $100|Z O $300
O $10,000|#O% $100
ZOZ $500|EFOf& $100
FO4u $20,000| & O %8 $100
BO% $20,000{EF O $100
RIEGASERAN AR A E] $3,000[EOF $100
HOR $100[Z2OF $100
=HOF $100|1#ROFK $100
O $1,000/ 1 O%x $100
SO&F $100[2£O%4 $500
BEOE $100[3EO#F $1,000
Z0OL $200[= O % $200
SO $100|HOZ $1,000
ZEOF $500[ &R O 75 1 $200
BOE $1,000|210% $1,000
FONE $1,000[ EO1H $1,000
sROML $1,200[ =0+ $500
HIOHE $1,200[ £ $500
RO $1,200[Z2O &l $300
ENOL $1,200|5EO % $1,000
Oz $1,000| R OEHD) $100
4 OB $250|128 O $500
i O $64[E Ok $3,000
HO% $O2[HOZE $1,200
Z O $100| B EH $50,000
ZO% $1,000| 2155 il $50,000
HBOE $62 R E Fil $50,000
 OHEER $62 | FE1E 3k $50,000
Ok $300| &k O & $100
FEORE $300| EO#s $100
EOM $1,000|BEOf& $100,000
FORE $1,000|1#% OBl $20,000
= O $200|EO#E $10,000
HOZE $200|ZOFE $2,000
21O7K gk $100[FEOF $600
BOL $5,000| O & % $600
% O% $200 =0 $1,000
HOE $1,000[=OHH $600
#H O $1,000{= O $600
BOH $10,000|5EO%E $600
OB $250[ O $600
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RO $250|1 MO % $600
BROS $1,200) B Ol $600
s O $50,000[FF O $600
HOF $50,000| B O1E $600
TOE $200(f O 5 $600
wOHk $1,000) B O $600
POZE $400[ 5= Ok $600
ZO% $20,000)ZFO54 $1,000
=ZO0= $3,000{ZF O FUH! $600
£ O $600[Z= O $10,000
EOfG $600[ZF O $600
OB $1,000)FOP $600
E O] $100[ZFOFE $600
HOZ $100[ZFOH $600
#HO% $100[#5 O $2,000
BIOH $100[ = O $2,000
=OE $100[ZEOF $1,000
BOERERE $1,200,000{FHOE $200
O $500[/HOHk $100
AEONE $500[3 OZEAL $1,200
F O $500 % O $1,000
FRORL $300[FO*E $50,000
#O1E $150[fROZ# $4,500
FIORK $500]+ORAE $300
FOFHEE $200[2£O%#E $4.500
HOE $500[#F O $200
BRO3 $250[MO% $300
Oz $500|ZF O $1,000
TO®E $500[fa O7A $400
O $1,000{FHO%E $1,100
IO $1,000{ZZOfF: $1,100
PO $530BR Ol $1,100
TOFE $200/ 2 OF5 $1,100
ROEE $1,000) = O $1,100
BOf $10,000[EXO%H $1,100
EOS $5,000{ &= O5A $1,100
w=OH $2,000|BR O J&= $500
ZIOE $500[F O $200
=0%F $30,000| kO $1,000
BOFE $3,000) 8 OF& $250
ROR, $2,000] 8 O $250
O $1,000|E O $1,000
HOBL $2,000|=mOF $500
PO $1.500[#O % $500
FOxE $10,000)#H Ok $500
BOH $1,000|BOH $500
E O $1,000|EZO= $5,000
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iTOH $1.000TOZEEH $500
sOH $500|Z2 O $1,100
sTORE $3,000[ & O $700
REGE TR $1,000]BROZE $700
BIOF $100[FROZ= $700
RO $1,000)BR O3 $700
BOZF $100| EOH $1,000
BO% $100[fOF $1,000
BROHT $100| = OFEEE $500
BRO$ $100)2# Ot $2,000
BIOFEH $100[ZF O $500
2OJ= $100|#O== $1,200
210D $100) R OFk $1,000
21O $100[H: O $500
ZIOE $100[ & OB $100
FEOM $100[ O E $100
BIOHE $100[EROIE $100
+O=E $100(% OF $100
BROFT $100|PBEOEE $10,000
FO $100[BROF $150
FEOF $100[5TOF $100
FOFE $2,000|5=O% $300
O $100[5OEH $300
#Ola $100[5OEH $300
O $100[ 52 Offg $300
2O $100[FROFE $500
O $100|F O %k $500
£Z0OH $100fH O $100
FOH $100| 8 O $100
B0 $1,200|EHOFT $100
BROM $1,200{BAOA $1,200
O $5,000{ 5= QA ) $200
BEOR, $20,000|# O+ $100
BHOE $20,000|E=O=E $100
LOSTE $5.000)E O $200
FHOrtE $200[#E Ot $100
EHO% $1,000)E 0O $100
SOZ. $20,000{IO% $100
1 OBl $50,000[F=O¥E $100
BHOA $5,000[FR OFAGE) $20,000
AO $10,000[BROFE $20,000
B OxE $3,000{EOHE $150
=OE $3,000) B O % $150
iTOR $20,000| B OZ $150
HOHE $1.200);E O $500
ROE $10,000 /it O 1F $100
PO $50,000 i O $100
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PROZREY $100,000{4CO% $100
RO $500[BBO %) $100
RO $5.000) % Of# $100
RO $200[ 2 OB $100
£HOH $100[ 2 OF $100
RO $2,000[FEOZ% $100
HO=E $1.000)B OF& $100
BROE $2,000[z=0O# $100
BIOH $1,000|ZL O $300
T OB $200[EROF $300
EXOn $1.000[FFOfif $100
FOW $1.000[FFOfE $100
frOH $500[t O+ $100
AEOHE $500[EH O $100
MO $200[FHO#h $100
ZOAl $10,000{ 5O $500
BROLL $10,000{BREO & $200
PO $10,000[5RO % $1,000
BEO LR ED $2,000|5FORk $100
EHOR $10,000[#ROZk $100
BIOFEGED $10,000{21Of% $100
ROK $5.000)| B O $100
MHO= $5.000) PO $100
F O $1.000[HO% $100
BOWs $1,200)E O $500
@) $1,500|5FOHM $1,000
P AT $20,000;£O & $100
BOZED $100,000|F=OF $100
FOBE $5.000); O $100
BOHGED $100,000[z=0O % $2,000
E O $2,000)5R O $1,000
EOH $2,000]) = O $200
MHORE $20,000[= O fie $100
RO $500[5OZ%& $200
PO $500[= O $200
=0= $200,000|22O 5 $200
HOE $3,600[ O $200
Ok $3,600( % Ot $1,000
TOfE $3.000[2£Of# $1,250
#FOAE $5.000] B ORK $1,250
O $1,200|1220f(& $1,250
PROME $10,000[ZO& $1,250
HOE $1,200)H OFE $200
AOT $1.200{ EOELEHD $200
FAOT $1,200| 5Ot $100
ROHL $300[#5OF & $100
EEORBED $1.200)EO& $500
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B OM $200[FE Ok $100
FOd% $2,000{A Ot $600
O $200[ZLOF5 $100
oY $10,000|5O $100
FO% $300| ZBOH] $100
BEOM $5,000{&=0O H $10,000
ROWEE $5.000|BROE $1,200
HOEE $1,200{2O% $3,000
PROZE $1,200[EHOFH $100
O A Ak $1,000{FROZESE $5,000
OB $1,200&O $5,000
TOR4E $300)7% Ol $5,000
FEOHE $1.200|EF OB $3,000
EA@) $1,200{ FO$H= $300
FO%E $50,000{BE O $100
FOE $1.200|FR O $100
BEOAR $3.000(BE OB $100,000
O $2.400 (B OB $300,000
IO $1,200[FH OF# $100
HIOBE $4.800|FR OF# $100
PROHE $4.800|EBOE $600
RORBR $800| O $20,000
FOEAE $1,000| FOF $200
O $1,000{FROEE $100
SO $500| RO $100
HFOE $500[££O B $200
s O $500(BE O $600
AG) $500| BB Ok $600
F+OFK $500({55 O $600
HFO $500| B O %A $600
s OE $500| EOH $300
BrORR $500|1 RO $1,000
208 $500[FROF $100
2O $500[FROF $100
ZOM $500[ % O& $200
MHORE $500[H O $200
22O $500|= O $100
SO $500[Fx O $100
ZO $300|BEROFE $100
®O% $5,000|BEO £ $100
HOHE $200) R O Ji $100
MOt $1,700[FROLE $100
=0%+ $200| O $100
HiONE $1,000[ FO# $100
= OB $500[FROE $100
RO $1.200|FRORE $100
#HOF $500[FR O $100
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HOTE $500[FROfZ $100
BROFSE $5.000|5FO%% $100
OBk $600[EFOi% $100
B OfE $600fF O $100
BOFHE $600fF O $100
10 $600[ETOHE $100
B0 $600[ETO*E $100
FOREHE $600[EFO f, $100
HOR $600[EFO f, $100
RO $200[5TOZE $100
ZOK% $200[5FOF $100
£ZOH $200 | s O $600
FOE $200[ RO $5,000
FH O $200[73 O] $10,000
HOZR $200[7R O $1,200
O $200|5= O $1,200
A OFFI $200 |5 O $1,200
OB $200[5= Ol $1,200
BOFE $200|5=OJH $1,200
0= $200[BBOFE $1,200
#ROPE $1,000| 2O $1,200
PO $2,000[FEOE $1,000
EEOZEAL $1,200|#EO% $1,000
#HOH $1.20050 $1,000
EOLE $1,200)B O== $500
SO $5.000(#ROBK $1,000
HOBE $300|FO== $20,000
sTOZ $600[Ex O EERIZ $800
O $1,000|#50O% $400
FHOME $300[5OZ $400
AO*% $600[tO $400
FAO% $600[ RO $2,000
O % $600 O $1,200
EROZE $200[BBO - $1,200
RO $200[;EO 5 $200
Ok $1,000| 0% $1,000
RO $1,000|2 O $1,000
ROE $1,000{EOF4 $300
ROEEAE $100|= O $200
ROF $100[HAOF* $200
RO $100[t5OFH $200
RO $100[#5 O $200
#HOEE $100[= Ol $2,000
=0O%+ $500[H O $500
EOL $3.000) & O P $1,000
®) $100[HO=F $10,000
BOTE $1,000)BEO%H $400
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20 $50|FOF= $1,000
£0OWE $50[EO $200
Ok $7,000)FO $500
EOZx= $300[FOEF= $500
@) $1.000| = OF $1,000
=08 $10,000{ZPOfk $1,000
ZOME $1.000[FFO% $1,000
HOBEHE) $10,000)220O 2 $1,000
s OfE $1.000[2£OH $1,000
£Z0OH $10,000|Z8O $300
it o) LA EH T $1,200)BEO40 $400
SO $5.000)¥Ez= 22 $3.808
EO% $1,000) Ok $1,200
O $4,000HEOFFEA $26,200
= Ok $4,000{FO%Z $1,000
w=0OfE $2,000[FEOJAED $400.,000
s O $2,000[# O $200
FOH $10,000|=O= $200
w ORI $220[FROZK $200
O $200[;TO $100
TORERD $2.000PTOERA $100
s Ot $200| RO $200
w= Ol $200] = OFE % $200
HOJ $2,000[#O % $200
AOZ $1,000[#OF $200
TO%& $2,000|#H OFE $200
BROF $200[FHOBE $200
w=O% $500[t7 O $200
PO $2,000| kO3 $200
PO $500[FH O $200
O $500[FHOth $200
H#HO $300[FHOFE $200
=0 $500[FH O FF $200
= Ot $200[FH O $200
= O $200| = O%% $200
HOHE $200|=O%: $200
HOH $2,000|FE O $200
Rk $100|f OFF $200
A ORk $10,000) = O $200
HOZ% $1,200| = O $200
ZOWE $1,200| = O $200
HOZRH $1,200{210O 7 $200
FO= $100[ = Offf $200
£0 $100[/RO1E $200
ZO% $100[E= OBk $200
ZO% $100[= ORI $200
FOM $100[#5O%E $200
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HOE $100[/EHO $1,000
Z O $100[FHO¥E $2,000
HO#E $100[#EOfA $500
ZO%k $100) & OFl $2,000
HOZE $100[8 O%% $2,000
#HO $100|=0OE $2,000
FORE $100[=Oli% $2,000
ZOE $100[BROM $600
#2O $100[BBORK $500
ZF Ot $100[=OF $5,000
FO5% $100[=O £y $500
FO& $100|E=OF $2,000
ZEROLIA $1,200[{T O $500
e OFF $50,000/5= O $200
B0 $300[BEOH $100
BROZR $500[7rOH $100
HOT $100[F= Ol $100
O $100[m= O $100
O $1,000|=OFE $100
O $500] &5 Ol $100
MHOE $600|E=O4 $1,000
L O $100[ EOREHS $2,000
O $100|=OF $100
s O $100|m= O $100
MO $1.000[= O $100
HORTE $1,000|=0O1= $100
RO $600[E=O% $100
PROAL $600[F O $100
PHOL $100[FROE $100
PRORE $100[=OFH $100
BROF5 5 $500[=OM $100
O $500[=O1E $100
BROAE $500[E= O $600
RO $100|1FOFE $500
FOF $1.000)F#HOJI $2,000
ROH $50,000{ IOk $200
EAHARAE $3,000[F=OF7E $200
£20) $500pPTORE $200
£ 0Ok $500pTORK $200
s ORE $10,000) B OBE $200
s OFE $20,0007ROF# $400
FROZE $1,200)5=O%k $500
O $10,000[ZF O $200
HOE $1,000|#EO4F $200
BROFA $10,000| 5= O%fE $100
ROEEE $100|E=O $500
HOF $1.000) B O $600
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BO=E $500,000| £ O% $500
BOR $200,000[EFOH $600
BOE $30,000) = O $200
O $20,000)7% O 3t $200
ROFE $100[FROM= $300
RO $100[ER O $300
ROZE $100[FRO= $300
HROEF $100fR O $500
=0 $100| RO $200
BOE $100[= O $500
BEOE $100|122O% $500
tHROE $200[ZFOHk $500
=OH $100|Z2OK $500
=O¥ $100|EROfEAE $100
=0% T $300[FROF* $100
i O F i $10,000{FR O $100
w=OJR $100[FRO# $100
wOE $100|#OFF $100
e O} $100[ROF53E $300
O $100|# O $100
s O% $100| EO= $200
BIOFHe $100[FROF5 $500
BROZ= $100[FE O $500
s O $100F OFE $500
w06 $100[=0OH $500
=018 $100[5= Ok $500
=0T+ $3,000{BROHE $500
SO# $100[HO= $600
=HOH $1,000) 5 O¥tE $1,000
BRO B $1,000[# O $200
MHO= $10,000) 7= O%L $200
= Ol $1,000[#0O H A $5,000
ROHi $500[tZOIIH $500
=50 $1.000[#5O W $500
FEOH $1.000|18O% $500
FO1&E $1.000{ZF O $2,000
O $5.000PTO% $200
HORE $100[)TOE $200
RO $100[5 O $200
O $2,000) B OFd $400
O $1,000{ B0 O $200
(@i $100[{TO4E $100
wOME $100[FIOF* $150
w=OH $100[21O#F $150
FOE $100[FIOF* $150
= O $100[# Ok $150
HOE $100|BRCOiH(EE $600
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FEO=A $100[FRO % $600
HOFL $100|HOF $100,000
FEON $100|%ROH $1,000
A OPr $500[FHO= $200
=OE $200[EFOH $600
FROH $100[ = OF $3,000
HOH $100[sE O $500
EHOM $100[fOF= $500
wOZ $100[# O K $500
wOfE $100[3#O == $500
= Ol $100/%2O%] $500
BOEXZH $1,000[#OFE $400
PROEE $10,000|#R OB $400
=OA $1,000|#kOFE $400
FOBE $500[H O $400
B ik $10,000[EEO ek $100
/NET $19,672,149/\é T $19,011,250

=1 $38.,683,399




